YOUR CHOICE <,

NW
W /

G

A&

YOUR CHOICE

CHANGZHOU INWELT WELDING TECHNOLOGY CO,,LTD
Tel: +86 519 81885979

Mob: +86 17315080879

E-mail:cathy.yu@czinwelt.com

Add: D819, Creativepark, No.9-2, East Taihu Road, Xinbei
District,ChangZhou City







CONTENT

LENR
COMPANY INTRODUCTION

COMPANY INTRODUCTION AR e

COMPANY PHILOSOPHY ABJEE& oo

FMIFE
TIG TORCHES

TIG TORCH O TIGOIZHE - oovovrroveon

TIG TORCH 17 TIGLTARHE oo
TIG TORCH 18 TIGL8JRHE oo
TIG TORCH 20 TIG20JRHE oo

TIG TORCH 24 TIG248#6 -

TIG TORCH 24W TIG24WIGHE oo
TIG TORCH 25 TIG2GHRAE oo
TIG TORCH 26 TIG2BIRAE oo
TIG TORCH 150 TIG15042H oo

EefF
SPARE PARTS

CONSUMABLES TIG 9-20-24-25 Sty
CONSUMABLES TIG 17-18-26 S

CONSUMABLES TIG 12 Sy o
CONSUMABLES TIG 22 S5 oo
CONSUMABLES TIG 27 S5 oo
AIR COOLING CABLES =i2mgs e

WATER COOLING CABLESTIG k4454 -
CABLESTIG BEAL ovvoomrsoomossrmeonmenos

PLUGS & FITTINGSTIG fgk v
SW'TCH 9:‘:9& e
TORCH HANDLES FAR oo
TORCH HEAD *@5‘: N

CABLE COVER R oo

ELECTRONIC PLUG EB&3ES

CABLE & PANEL CONNECTORS fRi##% -

TUNGSTEN ELECTRODES 8% oo

01
02

03
07
11
14
17
19
21
23
27

29
31
33
35
37
39
41
42
43
45
46
47
48
49
51
53



COMPANY INTRODUCTION
LEIEY

Inwelt is a customer oriented service platform focusing on welding torches, welding accessories
and personal protective equipments. Our goal is to provide comprehensive professional service
to our worldwide business partners. Inwelt team working tirelessly to implement industry
leading quality control procedures, so our customers can enjoy user friendly ordering service
with peace of mind knowing top rated QA team working for them here.

d3IddNS 9NIATIM TTVYNOISSI40dd 4dNOA



COM PANY PHILOSOPHY CHANGZHOU INWELT WELDING TECHNOLOGY CO., LTD
LEPIEE

VISION
L

To be a world class Supplier of
welding products.

A workplace with high employee
satisfaction!

Bt R —RERE RS 7, R — 1
[SEZE =GRl

MISSION
L

Provide high quality Welding
products , highly adaptive
operations flow !

AEREF RMEREIEES G,
E A HARBRR!

VALUES
L

Team Work, Embrace Change,
Passion for Life!

HIPAE1E, T, INEEE!

YOUR CHOICE




TIG TORCH 9

Y(E®

D

Technical Data
Cooling: Gas Cooled

Duty 35% DC: 110AMP
Duty 35% AC: 95AMP
Electrode Size: 0.5-1.6mm

03

BRSH
REAXSE

BiR35% BEHZE110AMP
Ri35% BHZE:95AMP
AR R~:0.5-1.6mm

Yawa



TIGTORCH 9

Y(E®

M12x1 Code Description Pack
Complete torch-EURO 1JPI6317-36 Torch sintig 9F 8m M12X1 {46/ BFF £ /TIGIFX/8m/M12X1 1
1JP16917-36 Torch sintig 9F 4m M12X1 248/ 8 FF % TIGIFX/4m/M12X1 1
1JPI7317-36 Torch dubtig 9F 8m M12X1 {248/IFF£/TIGIFX/8m/M12X1 1
1JPI7917-36 Torch dubtig 9F 4m M12X1 {248/IFF £/ TIGIFX/4m/M12X1 1
1JPU6317-36 Torch sintig 9 8m M12X1 1246/ 8FF3£/TIG9/8m/M12X1 1
1JPU6917-36 Torch sintig 9 4m M12X1 1246/ 8 FF3£/TIG9/4m/M12X1 1
1JPU7317-36 Torch dubtig 9 8m M12X1 &46/3FF3£/TIG9/8m/M12X1 1
1JPU7917-36 Torch dubtig 9 4m M12X1 E46/3FF3£/TIG9/4m/M12X1 1
3/8G Code Description Pack
Complete torch-UK 1JPI6318-36 Torch sintig 9F 8m 3/8G &4/ FFX/TIGIFX/8m/3/8G 1
1JP16918-36 Torch sintig 9F 4m 3/8G J&#8/8 77 %/TIG9FX/4m/3/8G 1
1JPI7318-36 Torch dubtig 9F 8m 3/8G Y&#8/3FF%/TIGIFX/8m/3/8G 1
1JPI7918-36 Torch dubtig 9F 4m 3/8G Y2#8/3FF%/TIGIFX/4m/3/8G 1
IJPU6318-36 Torch sintig 9 8m 3/8G 1818/ FFX/TIG9/8m/3/8G 1
1JPU6918-36 Torch sintig 9 4m 3/8G 148/ 2FX/TIG9/4m/3/8G 1
1JPU7318-36 Torch dubtig 9 8m 3/8G &4&/MFF%/TIG9/8m/3/8G 1
1JPU7918-36 Torch dubtig 9 4m 3/8G J&#/MFF%/TIG9/4m/3/8G 1
5/8” 18 UNF R Code Description Pack
Complete torch-USA 1JP16383-36 Torch sintig 9F 8m 5/8-18UNF {248/ 8 7F 3% /TIGIFX/8m/5/8-18UNF 1
1JP16983-36 Torch sintig 9F 4m 5/8-18UNF Y2#8/8 77 % /TIGIFX/4m/5/8-18UNF 1
1JPI7383-36 Torch dubtig 9F 8m 5/8-18UNF {248/3XFF 3%/ TIGIFX/8m/5/8-18UNF 1
1JPI7983-36 Torch dubtig 9F 4m 5/8-18UNF {248/IXFF 3%/ TIGIFX/4m/5/8-18UNF 1
1JPU6383-36 Torch sintig 9 8m 5/8-18UNF {&4¢/8FF3/TIG9/8m/5/8-18UNF 1
1JPU6983-36 Torch sintig 9 4m 5/8-18UNF {248/ 8FF3%/TIG9/4m/5/8-18UNF 1
1JPU7383-36 Torch dubtig 9 8m 5/8-18UNF {248/ FF3%/TIG9/8m/5/8-18UNF 1
1JPU7983-36 Torch dubtig 9 4m 5/8-18UNF {248/ FF3%/TIG9/4m/5/8-18UNF 1

04



TIGTORCH9

Y(E®

Technical Data
Cooling: Gas Cooled

Duty 35% DC: 110AMP
Duty 35% AC: 95AMP
Electrode Size: 0.5-1.6mm

BReH
REARSE

BiR35% EHZE110AMP
Riw35% EHEISAMP
BARR~F:0.5-1.6mm

Yawa

M12x1 Code Description Pack

Complete torch-EURO IJPI7117-36 Torch four switches 9F 4m M12X1/leather E#/IFX/TIGIFX/4m/M12X1/RIFE 1
IJPI7417-36 Torch dubtig 9F 8m M12X1/leather JE4&/MFF X /TIGIFX/8m/M12X1/RIFE 1
IJPI7517-36 Torch dubtig 9F 4m M12X1/leather E18/MFFX/TIGIFX/4m/M12X1/RIFE 1
IJPI8017-36 Torch four switches 9F 8m M12X1/leather &#8/IFFX/TIGIFX/8m/M12X1/EHF & 1
IJPU7117-36  Torch four switches 9 4m M12X1/leather $&#/MFX/TIG9/4m/M12X1/ B E 1
IJPU7417-36 Torch dubtig 9 8m M12X1/leather &8/ X/TIGI/8m/M12X1/RIFE 1
IJPU7517-36  Torch dubtig 9 4m M12X1/leather &48/RFFX/TIGY/4m/M12X1/BEIFE 1
IJPUBD17-36  Torch four switches 9 8m M12X1/leather ¥&#/MFFX/TIG9/8m/M12X1/EiFE 1

05



TIGTORCH 9

Y(E®

D)

Technical Data
Cooling: Gas Cooled

Duty 35% DC: 110AMP
Duty 35% AC: 95AMP
Electrode Size: 0.5-1.6mm

BRR&#

REHXS%

BHif35% EHE110AMP
Ri35% BHZE95AMP
B R~F:0.5-1.6mm

&

M12x1 Code Description Pack
Complete torch-EURO 1JPT9317-00 Torch Tig9V 8m M12X1 #4/TIGOV/8m/M12X1 1
1JPT9917-00 Torch Tig9V 4m M12X1 248/TIGOV/4m/M12X1 1
1JPV9317-00 Torch auto Tig9 8m M12X1 EIEI1EH/TIG9/8m/M12X1 1
1JPV9917-00 Torch auto Tig9 4m M12X1 BEaIER/TIG/4m/M12X1 1
3/8G Code Description Pack
Complete torch-UK 1JPT9318-00 Torch Tig9V 8m 3/8G {248/TIG9V/8m/3/8G 1
1JPT9918-00 Torch Tig9V 4m 3/8G {248/TIGOV/4m/3/8G 1
1JPV9318-00 Torch auto Tig9 8m 3/8G BEIE#/TIG9/8m/3/8G 1
1JPV9918-00 Torch auto Tig9 4m 3/8G BEIE#/TIG9/4m/3/8G 1

06



TIG TORCH 17

Y(E®

Cepor)

Technical Data
Cooling: Gas Cooled

Duty 35% DC: 140AMP
Duty 35% AC: 125AMP
Electrode Size: 0.5-2.4mm

07

BEReH

REAXSE

BHi35% EHZE140AMP
Rim35% B EK125AMP
AR R~:0.5-2.4mm

Yawa



TIG TORCH 17 ¥ C€

M12x1 Code Description Pack
Complete torch-EURO JPJ6317-36 Torch sintig 17F 8m M12X1 1&48/BFF%/TIG17FX/8m/M12X1 1
JPJ6917-36 Torch sintig 17F 4m M12X1 J&48/2FFX/TIG17FX/4m/M12X1 1
JPJ7317-36 Torch dubtig 17F 8m M12X1 &4/ FFX/TIG17FX/8m/M12X1 1
JPJ7917-36 Torch dubtig 17F 4m M12X1 &4/ FFX/TIG17FX/4m/M12X1 1
ﬂ JPA6317-36 Torch sintig 17 8m M12X1 48/ 87 X/TIG17/8m/M12X1 1
JPA6917-36 Torch sintig 17 4m M12X1 &4/ 87 X/TIG17/4m/M12X1 1
JPA7317-36 Torch dubtig 17 8m M12X1 {£48/5FFX/TIG17/8m/M12X1 1
JPA7917-36 Torch dubtig 17 4m M12X1 {£48/5FFX/TIG17/4m/M12X1 1
3/8G Code Description Pack
Complete torch-UK IJP16318-36 Torch sintig 17F 8m 3/8G JE4&/8FX/TIG17FX/8m/3/8G 1
1JP16918-36 Torch sintig 17F 4m 3/8G JE4&/8FFX/TIG17FX/4m/3/8G 1
1JPI7318-36 Torch dubtig 17F 8m 3/8G &4/ FFX/TIG17FX/8m/3/8G 1
1JPI7918-36 Torch dubtig 17F 4m 3/8G &4/ FFX/TIG17FX/4m/3/8G 1
ﬂ IJPU6318-36 Torch sintig 17 8m 3/8G (&4&/2FX/TIG17/8m/3/8G 1
1JPU6918-36 Torch sintig 17 4m 3/8G &48/2FHX/TIG17/4m/3/8G 1
1JPU7318-36 Torch dubtig 17 8m 3/8G &6/ F%/TIG17/8m/3/8G 1
1JPU7918-36 Torch dubtig 17 4m 3/8G 248/ F%X/TIG17/4m/3/8G 1
5/8" 18 UNF R Code Description Pack
Complete torch-USA 1JPJ6383-36 Torch sintig 17F 8m 5/8-18UNF Y246/ #7F%/TIG17FX/8m/5/8-18UNF 1
1JPJ6983-36 Torch sintig 17F 4m 5/8-18UNF 1£48/8FFX/TIG17FX/4m/5/8-18UNF 1
1JPJ7383-36 Torch dubtig 17F 8m 5/8-18UNF 1&4&/XFF X/TIG17FX/8m/5/8-18UNF 1
1JPJ7983-36 Torch dubtig 17F 4m 5/8-18UNF (&4&/XXFF%/TIG17FX/4m/5/8-18UNF 1
IJPA6383-36 Torch sintig 17 8m 5/8-18UNF J&4&/%F%/TIG17/8m/5/8-18UNF 1
IJPA6983-36 Torch sintig 17 4m 5/8-18UNF J&4&/%EFF%/TIG17/4m/5/8-18UNF 1
IJPA7383-36 Torch dubtig 17 8m 5/8-18UNF {&4&/3FF3%/TIG17/8m/5/8-18UNF 1

IJPA7983-36 Torch dubtig 17 4m 5/8-18UNF {24&/3FFX/TIG17/4m/5/8-18UNF 1

08



TIG TORCH 17

Y(E®

(Losther

Technical Data
Cooling: Gas Cooled

Duty 35% DC: 140AMP
Duty 35% AC: 125AMP
Electrode Size: 0.5-2.4mm

BRE&¥

REAAXS2

BiR35% BHZE140AMP
Riw35% EEHZE125AMP
BARR~:0.5-2.4mm

Yaa

M12x1 Code Description Pack
Complete torch-EURO IJPJ7117-36  Torch four switches 17F 4m M12X1/leather ¥E48/EF%/TIG17FX/4m/M12X1/ R iFE 1
IJPJ7417-36  Torch dubtig 17F 8m M12X1/leather E4&/MFX/TIG17FX/8m/M12X1/EIFE 1
IJPJ7517-36  Torch dubtig 17F 4m M12X1/leather &1/ FFX/TIG17FX/4m[M12X1/BIFE 1
IJPJ8017-36  Torch four switches 17F 8m M12X1/leather {&48/EF%/TIG17FX/8m/M12X1/EIFE 1
ﬂw IJPA7117-36  Torch four switches 17 4m M12X1/leather E#/FFX/TIG17/4m/M12X1/RIFE 1
IJPA7417-36  Torch dubtig 17 8m M12X1/leather E#/FX/TIG17/8m/M12X1/BIFE 1
IJPA7517-36  Torch dubtig 17 4m M12X1/leather & /FX/TIG17/4m/M12X1/RIFE 1
IJPA8017-36  Torch four switches 17 8m M12X1/leather ¥&48/IUF%/TIG17/8m/M12X1/KIFE 1

09



TIG TORCH 17 €®

D

Technical Data BARSH

Cooling: Gas Cooled RAARSS

Duty 35% DC: 140AMP Th35% EEHZE140AMP DC AC

Duty 35% AC: 125AMP Rim35% BEHE125AMP $ ﬁ & @

Electrode Size: 0.5-2.4mm R R~:0.5-2.4mm mm

M12x1 Code Description Pack

Complete torch-EURO 1JP09317-00 Torch TIG17V 8m M12X1 ¥&48/TIG17V/8m/M12X1 1
1JPO9917-00 Torch TIG17V 4m M12X1 &#8/TIG17V/4m/M12X1 1

ﬂ 1JPG9317-00 Torch auto TIG17 8m M12X1 Bz&#/TIG17/8m/M12X1 1
1JPG9917-00 Torch auto TIG17 4m M12X1 BEhER/TIG17/4m/M12X1 1

3/8G Code Description Pack

Complete torch-UK 1JPO9318-00 Torch TIG17V 8m 3/8G J&#8/TIG17V/8m/3/8G 1
1JPO9918-00 Torch TIG17 4m 3/8G &#/TIG17V/4m/3/8G 1

ﬂ 1JPG9318-00 Torch auto TIG17 8m 3/8G Bx1##4#/TIG17/8m/3/8G 1

1JPG9918-00 Torch auto TIG17 4m 3/8G B1I§#/TIG17/4m/3/8G 1

10



TIG TORCH 18

Y(E®

D

Technical Data BRSH

Cooling: Water Cooled RENFAI KIS

Duty 100% DC: 320AMP BHiR100% B ZE:320AMP

o A o) s, > (DC AC
Duty 100% AC: 240AMP 7100% EHHE: 240AMP \‘
o OE. \‘ 100% il 100% IR

Electrode Size: 0.5-4mm BRR:0.5-4mm

M12X1 1/4G 3/8G Code Description Pack

Complete torch-EURO 1JPC6317-36 Torch sintig 18 8m M12X1 J&48/8FF%/TIG18/8m/M12X1 1
1JPC6917-36 Torch sintig 18 4m M12X1 &4/ FFX/TIG18/4m/M12X1 1
IJPC7317-36 Torch dubtig 18 8m M12X1 &8/ FX/TIG18/8m/M12X1 1
IJPC7917-36 Torch dubtig 18 4m M12X1 {&48/MFX/TIG18/4m/M12X1 1

3/8G Code Description Pack

Complete torch-UK 1JPC6318-36 Torch sintig 18 8m 3/8G &4/ FX/TIG18/8m/3/8G 1
1JPC6918-36 Torch sintig 18 4m 3/8G &4/ FX/TIG18/4m/3/8G 1
1JPC7318-36 Torch dubtig 18 8m 3/8G J24&/XXF%/TIG18/8m/3/8G 1
1JPC7918-36 Torch dubtig 18 4m 3/8G 246/ F%/TIG18/4m/3/8G 1

11



TIG TORCH 18

Y(E®

Technical Data
Cooling: Water Cooled
Duty 100% DC: 320AMP
Duty 100% AC: 240AMP
Electrode Size: 0.5-4mm

BRSH

RAFRKE

BHiR100% BEHZE:320AMP
RiF100% FHE:240AMP
BARR~:0.5-4mm

DC| [AC ‘ \
100% il 100% n@n

M12X1 1/4G 3/8G Code Description Pack
Complete torch-EURO 1JPC7117-36 Torch four switches 18 4m M12X1/leather Y2#/IFF%/TIG18/4m/M12X1/ P E 1
1JPC7417-36 Torch dubtig 18 8m M12X1/leather ¥24&/IFF%/TIG18/8m/M12X1/BIFE 1
1JPC7517-36 Torch dubtig 18 4m M12X1/leather ¥24&/IFFX/TIG18/4m/M12X1/BIFE 1
1JPC8017-36 Torch four switches 18 8m M12X1/leather ¥&4#/MFF%/TIG18/8m/M12X1/EIFE 1

12



TIG TORCH 18

Y(E®

D)

Technical Data
Cooling: Water Cooled
Duty 100% DC: 320AMP
Duty 100% AC: 240AMP
Electrode Size: 0.5-4mm

BRS8H

REAR IS

BHif100% BHZE:320AMP
R100% EHZE:240AMP
BRR:0.5-4mm

DC| [AC ‘ \
100% il 100% n@n

M12X1 1/4G 3/8G Code Description Pack
Complete torch-EURO IJPZ9317-00  Torch four switches 18 4m M12X1/leather Y248/I0FF%/TIG18/4m/M12X1/ 4P E 1
1JPZ9917-00 Torch dubtig 18 8m M12X1/leather ¥&4&/IFF%/TIG18/8m/M12X1/BHFE 1
IJPH9317-00 Torch dubtig 18 4m M12X1/leather 2/ FFX/TIG18/4m/M12X1/BHFE 1
IJPH9917-00 Torch four switches 18 8m M12X1/leather J8#6/EFX/TIG18/8m/M12X1/EIFE 1

13



TIG TORCH 20

Y(E®

CErom

Technical Data BEREH

Cooling: Water Cooled REAI KIS

Duty 100% DC: 250AMP Bi100% E#H=E:250AMP
Duty 100% AC: 220AMP Ri100% EHZE:220AMP

Electrode Size: 0.5-3.2mm AR R~:0.5-3.2mm

DC| [AC @
100% i 100% TR

M12X1 1/4G 3/8G Code Description Pack
Complete torch-EURO IJPN6317-36 Torch sintig 20 8m M12X1 1&48/EFF%/TIG20/8m/M12X1 1
IJPN6917-36 Torch sintig 20 4m M12X1 246/ FF3%/TIG20/4m/M12X1 1
IJPN7317-36 Torch dubtig 20 8m M12X1 {24/ FFX/TIG20/8m/M12X1 1
IJPN7917-36 Torch dubtig 20 4m M12X1 {848/ FFX/TIG20/4m/M12X1 1
3/8G Code Description Pack
Complete torch-UK IJPN6318-36 Torch sintig 20 8m 3/8G &4&/8F%/TIG20/8m/3/8G 1
IJPN6918-36 Torch sintig 20 4m 3/8G JE#8/8FF%/TIG20/4m/3/8G 1

14



TIG TORCH 20

Y(E®

(Lostrer

Technical Data
Cooling: Water Cooled
Duty 100% DC: 250AMP
Duty 100% AC: 220AMP
Electrode Size: 0.5-3.2mm

BRsH

RENFAKS

BHif100% EEHZE:250AMP
RiF100% BHHEK:220AMP
Bk R~:0.5-3.2mm

DC| [AC 0))
100% il 100% EETRTY

M12X1 1/4G 3/8G Code Description Pack
Complete torch-EURO IJPN7117-36  Torch four switches 20 4m M12X1/leather 246/T8FF %/ TIG20/4m/M12X1/KiPE 1
1IJPN7417-36 Torch dubtig 20 8m M12X1/leather ¥&46/XXFX/TIG20/8m/M12X1/BZHFE 1
IJPN7517-36 Torch dubtig 20 4m M12X1/leather 48/ FX/TIG20/4m/M12X1/RIFE 1
IJPN8017-36 Torch four switches 20 8m M12X1/leather $&#6/IUF%/TIG20/8m/M12X1/ B E 1

15



TIG TORCH 20

Y(E®

D

Technical Data
Cooling: Water Cooled
Duty 100% DC: 250AMP
Duty 100% AC: 220AMP
Electrode Size: 0.5-3.2mm

BRR&H

RAARAKS

BHif100% BEHZE:250AMP
Ri100% BHHE:220AMP
BRR~:0.5-3.2mm

I

DC AC
&)

M12X1 1/4G 3/8G Code Description Pack
Complete torch-EURO 1JPN9317-00 Torch TIG 20V 8m {24¢/TIG20V/8m 1
_";‘qr 1JPN9917-00 Torch TIG 20V 4m $248/TIG20V/4m 1
IJPR9317-00 Auto torch TIG 20 8m BFIR48/TIG20/8m 1
N:; 1JPR9917-00 Auto torch TIG 20 4m Bz1E/TIG20/4m 1

16



TIG TORCH 24

Y(E®

D

Technical Data
Cooling: Gas Cooled

Duty 35% DC: 110AMP
Duty 35% AC: 95AMP
Electrode Size: 0.5-2.4mm

BRE#

BEAXS%

BHif35% EHE110AMP
Ri35% BHE95AMP
B R~:0.5-2.4mm

Yaw

M12x1 Code Description Pack
Complete torch-EURO 1JPL6317-36 Torch sintig 24F 8m M12X1 {248/ BFF3£/TIG24FX/8m/M12X1 1
1JPL6917-36 Torch sintig 24F 4m M12X1 {£48/BFX/TIG24FX/4m/M12X1 1
1JPL7317-36 Torch dubtig 24F 8m M12X1 1848/ FFX/TIG24FX/8m/M12X1 1
1JPL7917-36 Torch dubtig 24F 4m M12X1 S48/ FFX/TIG24FX[4m[M12X1 1
1IJPW6317-36 Torch sintig 24 8m M12X1 &8/ FX/TIG24/8m/M12X1 1
1IJPW6917-36 Torch sintig 24 4m M12X1 &8/ FX/TIG24/4m[M12X1 1
1IJPW7317-36 Torch dubtig 24 8m M12X1 )48/ FF%/TIG24/8m/M12X1 1
IJPW7917-36 Torch dubtig 24 4m M12X1 J4&/XXFF%/TIG24/4m/M12X1 1
3/8G Code Description Pack
Complete torch-UK 1JPL6318-36 Torch sintig 24F 8m 3/8G {218/2FFX/TIG24FX/8m/3/8G 1
1JPL6918-36 Torch sintig 24F 4m 3/8G {218/2FFX/TIG24FX/4m/3/8G 1
1JPL7318-36 Torch dubtig 24F 8m 3/8G &8/ FFX/TIG24FX/8m/3/8G 1
1JPL7918-36 Torch dubtig 247F 4m 3/8G {&18/MFFX/TIG24FX/4m/3/8G 1
1JPW6318-36 Torch sintig 24 8m 3/8G 1818/8FFX/TIG24/8m/3/8G 1
1JPW6918-36 Torch sintig 24 4m 3/8G 148/ %27 %/TIG24/4m/3/8G 1
1JPW7318-36 Torch dubtig 24 8m 3/8G J&#/MFFX/TIG24/8m/3/8G 1
1IJPW7918-36 Torch dubtig 24 4m 3/8G 1&#6/MFFX/TIG24/4m/3/8G 1

17



TIG TORCH 24 ¥ C€

Losther

Technical Data EREH
Cooling: Gas Cooled RABRSS
o NC: #xZ0o .

i T yesfoair

Electrode Size: 0.5-2.4mm BiRR:0.5-2.4mm mm

M12x1 Code Description Pack

Complete torch-EURO JPL7117-36  Torch four switches 24F 4m M12x1/leather ¥248/M0FFX/TIG24FX/4mIM12x1/EIFE 1
JPL7417-36  Torch dubtig 24F 8m M12x1/leather 4&/FF%/TIG24FX/8m/M12x1/EIFE 1
JPL7517-36 Torch dubtig 24F 4m M12x1/leather 248/ FFX/TIG24FX/4m/M12x1/ZIFE 1
JPL8017-36  Torch four switches 24F 8m M12x1/leather &8/ X/TIG24FX/8m/M12x1/RIFE 1

ﬂw JPW7117-36  Torch four switches 24 4m M12x1/leather {48/ FFX/TIG24/4m/M12x1|BIFE 1

- JPW7417-36  Torch dubtig 24 8m M12x1/leather &#/WFFX/TIG24/8m/M12x1/EIFE 1

JPW7517-36  Torch dubtig 24 4m M12x1/leather ¥&4&/XFFX/TIG24/4m/M12x1[EIFE 1

JPW8017-36  Torch four switches 24 8m M12x1/leather J&46/TIFFX/TIG24/8m/M12x1/RIFE 1

18



TIG TORCH 24W

Y(E®

D

Technical Data
Cooling: Water Cooled
Duty 100% DC: 180AMP
Duty 100% AC: 120AMP
Electrode Size: 0.5-2.4mm

BRE#

RAAR K

BEiR100% Z#H=:180AMP
Riw100% BHE120AMP
BiRR~:0.5-2.4mm

Qo @ 2

1/4G M12x1 3/8G Code Description Pack
Complete torch-EURO 1JPB6317-36 Torch sintig 24WF 8m M12X1 {248/ BFF%£/TIG24W FX/8m/M12X1 1
1JPB6917-36 Torch sintig 24WF 4m M12X1 28/8FFX/TIG24W FX/4m/M12X1 1
1JPB7317-36 Torch dubtig 24WF 8m M12X1 818/BFFX/TIG24W FX/8m/M12X1 1
1JPB7917-36 Torch dubtig 24WF 4m M12X1 818/XFFX/TIG24W FX/4m/M12X1 1
1JPY6317-36 Torch sintig 24W 8m M12X1 {218/8F%/TIG24W/8m/M12X1 1
1JPY6917-36 Torch sintig 24W 4m M12X1 {28/ FX/TIG24W/4m/M12X1 1
1JPY7317-36 Torch dubtig 24W 8m M12X1 &8/ FFX/TIG24W/8m/M12X1 1
1JPY7917-36 Torch dubtig 24W 4m M12X1 1248/ FFX/TIG24W/4m[M12X1 1
3/8G Code Description Pack
Complete torch-UK 1JPB6318-36 Torch sintig 24WF 8m 3/8G E4#6/8FFX/TIG24W FX/8m/3/8G 1
1JPB6918-36 Torch sintig 24WF 4m 3/8G JE16/8FF X/TIG24W FX/4m/3/8G 1
1JPB7318-36 Torch dubtig 24WF 8m 3/8G 124/ FFX/TIG24W FX/8m/3/8G 1
1JPB7918-36 Torch dubtig 247WF 4m 3/8G &4/ FF%/TIG24W FX/4m/3/8G 1
1JPY6318-36 Torch sintig 24W 8m 3/8G {248/ FX/TIG24W/8m/3/8G 1
1JPY6918-36 Torch sintig 24W 4m 3/8G &48/2FX/TIG24W/4m/3/8G 1
1JPY7318-36 Torch dubtig 24W 8m 3/8G &4/ FF%/TIG24W/8m/3/8G 1
1JPY7918-36 Torch dubtig 24W 4m 3/8G {248/XXFFX/TIG24W/4m/3/8G 1

19



TIG TORCH 24W

Y(E®

Losther

Technical Data
Cooling: Water Cooled
Duty 100% DC: 180AMP
Duty 100% AC: 120AMP
Electrode Size: 0.5-2.4mm

BRR&#

RAAR K

BHif100% BHZE180AMP
Riw100% BFHE120AMP
BRR~:0.5-2.4mm

= (Dc] (AC %
\“ 100% 100% mm

1/4G M12x1 3/8G Code Description Pack
Complete torch-EURO IJPB7117-36  Torch four switches 24W 4m M12x1/leather Y&48/IUFFX/TIG24W/4m/M12x1/ K I E 1
_;g;%r IJPB7417-36  Torch dubtig 24W 8m M12x1/leather {&#/XFF%/TIG24W/8m/M12x1/EZIFE 1
IIPB7517-36  Torch dubtig 24W 4m M12x1/leather J2i8/IRFF%/TIG24W/4m/M12x1/EiPE 1
N: IJPB8017-36  Torch four switches 24W 8m M12x1/leather 2#8/I0F %/TIG24W/8m/M12x1/RiFE 1

20



TIG TORCH 25

Y(E®

Losther

Technical Data
Cooling: Water Cooled
Duty 100% DC: 250AMP
Duty 100% AC: 220AMP
Electrode Size: 0.5-3.2mm

21

BRSH

RAFHKE

BiR100% BHE:250AMP
Ri100% B = 220AMP
R R~:0.5-3.2mm

== (D) (AC 0
\‘ 100% M 100% IR0



TIG TORCH 25 €

1/4G Mi12x1 3/8G Code Description Pack
Complete torch-EURO 1JPK6317-36 Torch sintig 25 8m M12X1 #8418/ B FF%/TIG25/8m/M12X1 1
IJPK6917-36 Torch sintig 25 4m M12X1 &I/ BFF%/TIG25/4m/M12X1 1
IJPK7317-36 Torch dubtig 25 8m M12X1 ¥246/5FF 3/ TIG25/8m/M12X1 1
_E'# IJPK7917-36 Torch dubtig 25 4m M12X1 ¥246/5FF3/TIG25/4m/M12X1 1

3/8G Code Description Pack
Complete torch-UK 1JPK6318-36 Torch dubtig 25 8m M12X1 &4/ FF%/TIG25/8m/M12X1 1
1JPK6918-36 Torch dubtig 25 4m M12X1 ¥&#8/3FFX/TIG25/4m/M12X1 11 1

= 1JPK7318-36 Torch dubtig 25 8m 3/8G &4/ FF%/TIG25/8m/3/8G 1

gy - 1JPK7918-36 Torch dubtig 25 4m 3/8G &4/ FF%/TIG25/4m/3/8G 1

5/8" 18 UNF R Code Description Pack
Complete torch-USA IJPK7117-36  Torch four switches 25 4m M12X1/leather J248/P9FF €/ TIG25/4m/M12X1BHPE 1
IJPK7417-36  Torch dubtig 25 8m M12X1/leather Y&/ X/TIG25/8m/M12x1/RIFE 1

q# IJPK7517-36  Torch dubtig 25 4m M12X1/leather Y&48/SFFX/TIG25/4m/M12x1/RIFE 1
oy IJPK8O17-36  Torch four switches 25 8m M12X1/leather J&4/TUFX/TIG25/8m/M12X1/ERIFE 1

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 22
EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



TIG TORCH 26

Y(E®

D

Technical Data
Cooling: Gas Cooled
Duty 35% DC: 180AMP
Duty 35% AC: 150AMP
Electrode Size: 0.5-4mm

23

BRSH

REAXSE

BiR35% EHZE180AMP
Ri35% EEHZ:150AMP
R R~:0.5-4mm

Yaa



TIG TORCH 26 Y C€

M12x1 Code Description Pack
Complete torch-EURO 1JPS6317-36 Torch sintig 26F 8m M12X1 {248/ B FF£/TIG26FX/8m/M12X1 1
1JPS6917-36 Torch sintig 26F 4m M12X1 1848/ BFFK/TIG26FX/4m/M12X1 1
1JPS7317-36 Torch dubtig 26F 8m M12X1 J&4&/XFFX/TIG26FX/8m/M12X1 1
1JPS7917-36 Torch dubtig 26F 4m M12X1 J&4&/XXFFX/TIG26FX[4m/M12X1 1
ﬂ 1JPX6317-36 Torch sintig 26 8m M12X1 JZ#8/2FFX/TIG26/8m/M12X1 1
IJPX6917-36 Torch sintig 26 4m M12X1 24/ FFX/TIG26/4m/M12X1 1
1JPX7317-36 Torch dubtig 26 8m M12X1 148/ FF%/TIG26/8m/M12X1 1
1JPX7917-36¢C Torch dubtig 26 4m M12X1 48/ FF%/TIG26/4m/M12X1 1
3/8G Code Description Pack
Complete torch-UK 1JPS6318-36 Torch sintig 26F 8m 3/8G &4/ 8 FF X/TIG26FX/8m/3/8G 1
1JPS6918-36 Torch sintig 26F 4m 3/8G Y&1€/8FFX/TIG26FX/4m/3/8G 1
1JPS7318-36 Torch dubtig 26F 8m 3/8G J&1&/TFFX/TIG26FX/8m/3/8G 1
1JPS7918-36 Torch dubtig 26F 4m 3/8G J&18/TFFX/TIG26FX/4m/[3/8G 1
ﬂ IJPX6318-36 Torch sintig 26 8m 3/8G {2£48/8FFX/TIG26/8m/3/8G 1
1JPX6918-36 Torch sintig 26 4m 3/8G 1E#8/8FX/TIG26/4m/3/8G 1
1JPX7318-36 Torch dubtig 26 8m 3/8G {&18/MFF%/TIG26/8m/3/8G 1
1JPX7918-36 Torch dubtig 26 4m 3/8G {&18/MFFX/TIG26/4m/3/8G 1
5/8” 18 UNF R Code Description Pack
Complete torch-USA 1JPS6383-36 Torch sintig 26F 8m 5/8-18UNF 248/ FF%/TIG26FX/8m/5/8-18UNF 1
1JPS6983-36 Torch sintig 26F 4m 5/8-18UNF {&4€/8FX/TIG26FX/4m/5/8-18UNF 1
1JPS7383-36 Torch dubtig 26F 8m 5/8-18UNF &8/ FFx/TIG26FX/8m/5/8-18UNF 1
1JPS7983-36 Torch dubtig 26F 4m 5/8-18UNF &8/ FF%/TIG26FX/4m/5/8-18UNF 1
1JPX6383-36 Torch sintig 26 8m 5/8-18UNF {848/58 7 %/TIG26/8m/5/8-18UNF 1
1JPX6983-36 Torch sintig 26 4m 5/8-18UNF {848/5 7 %/TIG26/4m/5/8-18UNF 1
1JPX7383-36 Torch dubtig 26 8m 5/8-18UNF 248/ F%/TIG26/8m/5/8-18UNF 1

1JPX7983-36 Torch dubtig 26 4m 5/8-18UNF J&4&/XXF %/TIG26/4m/5/8-18UNF 1

24



TIG TORCH 26

Y(E®

Technical Data
Cooling: Gas Cooled
Duty 35% DC: 180AMP
Duty 35% AC: 150AMP
Electrode Size: 0.5-4mm

BRs¥
REANSE

Th35% EEHZE180AMP
Rim35% EHZE:150AMP
B R~:0.5-4mm

Yaw

M12x1 Code Description Pack
Complete torch-EURO IJPS7117-36  Torch four switches 26F 4m M12X1/leather Xg48/MFF#/TIG26FX/4m/M12X1/EHPE 1
IJPS7417-36  Torch dubtig 26F 8m M12X1/leather J&4/MFFX/TIG26FX/8m/M12X1/BIFE 1
IJPS7517-36  Torch dubtig 26F 4m M12X1/leather J&4/MFFX/TIG26FX/4m/M12X1/BEZIFE 1
1JPS8017-36  Torch four switches 26F 8m M12X1/leather Z4/MFX/TIG26FX/8m/M12X1/RIFE 1
IJPX7117-36  Torch four switches 26 4m M12X1/leather ¥&48/EHX/TIG26/4m[M12X1/EIFE 1
IJPX7417-36  Torch dubtig 26 8m M12X1/leather ¥&#/FFX/TIG26/8m/M12X1/EIFE 1
IJPX7517-36  Torch dubtig 26 4m M12X1/leather Y&#/FFX/TIG26/4m[M12X1/BIFPE 1
IJPX8017-36  Torch four switches 26 8m M12X1/leather &4/ X/TIG26/8m/M12X1/KRIFE 1

25



TIG TORCH 26

Y(E®

D

Technical Data
Cooling: Gas Cooled
Duty 35% DC: 180AMP
Duty 35% AC: 150AMP
Electrode Size: 0.5-4mm

BR&#

REHXSS

Bii35% BHE180AMP
Ri35% BHZE:150AMP
B R~F:0.5-4mm

Yaa

M12x1 Code Description Pack
Complete torch-EURO 1JPD9317-00 Torch TIG26V 8m M12X1 (848/TIG26V/8m/M12X1 1
1JPD9917-00 Torch TIG26V 4m M12X1 &48/TIG26V/4m/M12X1 1
1JPE9317-00 Torch auto TIG26 8m M12X1 BziE#/TIG26/8m/M12X1 1
1JPE9917-00 Torch auto TIG26 4m M12X1 BaE#/TIG26/4m/M12X1 1
3/8G6 Code Description Pack
Complete torch-UK 1JPD9318-00 Torch TIG26V 8m 3/8G 124¢/TIG26V/8m/3/8G 1
1JPD9918-00 Torch TIG26 4m 3/8G {248/TIG26V/4m/3/8G 1
IJPE9318-00 Torch auto TIG26 8m 3/8G BENE#/TIG26/8m/3/8G 1
1JPE9918-00 Torch auto TIG26 4m 3/8G BENE#/TIG26/4m/3/8G 1

26



TIG TORCH 150 Y C€

CePom

Technical Data RS
Cooling: Gas Cooled RABRSL
Duty 35% DC: 80AMP Bit35% E#HE:80AMP
o " DC AC
Duty 35% AC: 65AMP RR35% B 65AMP
Electrode Size: 1.6-2.0mm BRR:1.6-2.0mm mm
M16X1.5 Code Description Pack
Complete torch-EURO 1JPF6316 TORCH TIG150/8M M16x1.5 $248/TIG150/8M M16x1.5 1
IJPF6376 TORCH TIG150/8M/6mmq M16x1.5 1848/TIG150/8M/6mma M16x1.5 1
ﬁw IJPF6386 TORCH TIG150/8M/8mmq M16x1.5 1848/TIG150/8M/8mmq M16x1.5 1
e 1JPF6916 TORCH TIG150/4M M16x1.5 ¥248/TIG150/4M M16x1.5 1
1JPF6976 TORCH TIG150/4M/6mmq M16x1.5 1848/TIG150/4M/6mma M16x1.5 1

I1JPF6986 TORCH TIG150/4M/8mmq M16x1.5 124&/TIG150/4M/8mmg M16x1.5 1

27



Z i ¥ (€

. S—

o My

B

|

Code Description Pack
1JHA0014 Torch Head TIG150 #&3k TIG150 10
1JIK0063 Short Back Cap TIG150 %E##1E TIG150 10
1JIK0060 Long Back Cap TIG150 Ki##tE TIG150 10
1JHV0012-16 Collet 21.6 TIG150 EB4%E0a1.6 TIG150 10
1JHV0012-20 Collet 2.0 TIG150 B#%¥%£e2.0 TIG150 10
1JHG0075 Collet Body TIG150 EB4R3EEE TIG150 10
1JHT0062 Alumina Cup GR6 TIG150 & BKEGR4 TIG150 10
1JHT0063 Alumina Cup GR6 TIG150 BEBKEGRS TIG150 10

1JHTO0064 Alumina Cup GR6 TIG150 FEBKEGR6 TIG150 10




CONSUMABLES TIG 9-20-24-25 Zi&#F

Y(E®

_—_—— e === =

1JIK0029 1JIK0020 1JIK0026
1JHV0044-10 1JHV0019-05 1JHV0016-05 1JHV0010-05
053 044 032 033
—t = — =
© <
ﬂ < & " J“ “ }
1JHLOO16 1JHLO017 1JHLO080 1JHLOO10
s ) ; [
IJHLO_071-10 IJHGO_O19-05 IJHGO(_)16-05 IJHGO(_J'Ié-OS IJHGO(_)]O-OS
5/16-24UNF 5/16-24UNF - 5/16-24UNF é Im_ 5/16-24UNF é I,,_ 5/16-24UNF g In'
< 3/8-24UNF & 9/16-18UNF & 9/16-18UNF 8 3 N
16 ; 3
e e ! [ ! b ‘: ”””” !
1JHT0031 1JHT0038 IJHT0078  IJHTO079  1JHTOO70  IJHT0619 i IJHT0087  IJHTO088  IJHTO089  1JHTO080
¥ |
| — — i ——
— - L — — — 2 . ! o4 6.4 o8 09.5
09 s o125 6.4 8 9.5 ; |
1JHTO0037 1JHT0039 IJHT0076  1JHT0072  1JHTO073 IJHTO007  IJHTO008  IJHTO009  IJHTOO00  IJHTO006
- s — ¥ F 9| L 8 |2
¥ 6.5 y h
1 — — — — — — — —
— — o1 012.5 16 6.5 8 9.5 on 012.5
016 19.5
LUHT0030 IJHTO056  1JHT0052  IJHTO053  1JHTO054 IJHTO067  IJHT0068  IJHTO069  IJHTO060  1JHTO066
j El
. Ig ¢
. — — — — —
— — — —
o4 065 08 095 6.5 8 9.5 on 012.5
IJHTO002  IJHTO003  IJHTO004  IJHTOOO5  1JHTO061
1JHTO611 IJHT0617  1JHT0618  1JHTO610 ' ? ﬁ I
— — —l — — — — — —
04 6.5 08 9.5 6.5 08 ©9.5 o1 012.5
Code Ref. Description Pack Code Ref. Description Pack
. Collet body gas lens ® 0.5mm TIG24-24W g Collet body ® 1.2mm TIG9-20-25
HHG0016-05  45v41 SEIEE 0 0.5mm/TIG24-24W 10 NHGO019-12 7010276 EBARSREE O 1.2mm/TIG9-20-25 10
g Collet body gas lens ® 1.0mm TIG24-24W g Collet body ® 1.6mm TIG9-20-25
NHGOO16-10  45V42 SEEEE 01.0mm/TIG24-24W 10 NHGOOT9-16 13N27 RRSREE © 1.6mm/TIG9-20-25 10
y Collet body gas lens ® 1.6mm TIG24-24W g Collet body ® 2.0mm TIG9-20-25
HG00T6-16  45V43 SEESEE © 1.6mm/TIG24-24W 10 UHG0019-20  70067WT  ipsepr © 2.0mm/TIG9-20-25 10
: Collet body gas lens ® 2.0mm TIG24-24W g Collet body ® 2.4mm TIG9-20-25
IJHGOOT6-20 70058 SHEER 0 2.0mm/TIG24-24W 10 IJHGOO19-24  13N28 BARSEEE O 2.4mm/TIG9-20-25 10
Collet body gas lens ® 2.4mm TIG24-24W Collet body ® 3.2mm TIG9-20-25
HG0016-24  45V44 SEEEI 0 2.4mm/TIG24-24W 10 WHGOO19-32  13N29 EBARSEEE © 3.2mm/TIG9-20-25 10
Collet body gas lens ® 3.2mm TIG24-24W Collet body ® 0.5mm TIG24-24W
HGOO16-32 4545 SEEEIE 0 3.2mm/TIG24-24W 10 IJHG0010-05  53N17 F{RIERE © 0.5mm TIG24-24W 10
Collet body ® 0.5mm TIG9-20-25 Collet body ® 1.0mm TIG24-24W
LHGO019-05  13N25 EIRSEEE © 0.5mm/TIG9-20-25 10 LIHGO010-10  53N18 HARSEEE O 1.0mm TIG24-24W 10
29 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEIMEIR. NBREANSSHESHEIR, BATERAR (ATEN)



CONSUMABLES TIG 9-20-24-25 Zi&#F

Code Ref. Description Pack Code Ref. Description Pack
HGOOI9-10  13N26 P At e 10 LHGOO010-16  53N19 e b o TG 2424 10
IJHGOO10-24  24CB332 A s o 10 1JHT0005 53N6IXL T ey |24 10
UHGOO710  45V02045  paiarge geslers ® Lomin T2e0 2 10 1JHTO006 53N61S T o ey | v 24W 10
rooonis_ssviss_ Bulegian e i 109075 0w swee  pecmpeceas o
ooon2e _asvess _ sigsaie oz Tog 20 0 s s AmmcsgemgsTonaw o
rooons2_sesrss _ Sieiemeries i 1070 0w s peocmpemomes o
oo asvess psEgas et 100 D e swe  Amccsgee e o
1JHLOO17 598882 ey 0 2025 10 IJHTOS11 796F74 e o o e 25 10
1JHLOO10 53N22 T oy 224w 10 IUHT0617 796F75 e oo 25 10
lJHLOO77 5AN63-20 108 908 jene eulator torch body TIGS-20 10 IUHT0618 796F76 e S o ae 22 10
1JHLO08O 53N66 T T Sy ch body TI624-24W 10 IHT0619 796F79 T e oo 25 10
IJHTO031 57N75 e b Jo lens XL GR6 10 IHT0610 796F77 e o o e 25 10
1JHT0037 57N74 i b gos lens XL GRS 10 IJHVO016:05  53N62 e 24 10
1JHT0038 53N88 fluring cap gas lens XL GRIO 10 IHVOO16-10  53N63 ey W 10
1JHT0039 53N87 i g g0 lens XL GR12 10 IUHVOO16-16  53N64 B g 24W 10
1JHT0030 53N89 i b 9o lens XL GRIS 10 UHVOOT6-24  246LC332  Gopeb 24mm gaslens TG24-24W 10
1JHT0052 796F71 T R e 25 10 IHVOO19-05  13N20 FEr LA e ) 10
IJHT0053 796F72 T o aoa 25 10 UHVOO19-10  13N21 PRSP ULLA Hech 10
1JHT0054 796F73 T D R o 20 10 IHVOO19-12  701.0254 e o R 2025 10
IJHT0056 796F70 e D R T 25 10 UHVO019-16  13N22 PR AL e o) 10
1JHT0061 BINGISKL el Cub gos lens SRG TIG24-24W 10 UHV0019-20  70066WT  Geb 29mm 1692025 10
IJHT0066 5SN61SL e ey | 20 24W 10 IHVO019-24  13N23 FrER eyl LA ek 10
1JHT0067 53N58L T D oy o224 10 IJHV0019-32  13N24 e e T 5% 10
1JHT0068 53N59L B D g e |12 24N 10 IJHV0010-05  53N15 e T 10
1JHT0069 53N60L T o e ey |1o2424W 10 IHVO010-10  53N16 e T 10
IJHT0060 53N6IL e D ey | 2 2W 10 IUHVOO10-16  53N14 o Tt 10
1JHT0072 13N12 e D o 25 10 UHVOOI0-24  246LC332 GG 34mm MOZAait 10
1JHT0073 13N13 O e o 25 10 IJHV0044-05  13N20L e T2 10
1JHT0076 13N P o aa 25 10 IJHV0044-10  13N21L e T 10
IJHT0078 13N08 e o s aa 25 10 IUHV0044-16  13N22L o T 10
1JHT0079 13N09 e o 25 10 UHV0044-20  13N23ML  gp% G 5omm T2 10
IJHT0070 13N10 e e R e 25 10 IHV0044-24  13N23L e S T2 10
IJHT0087 53N23 P e 10 IIHVO044-32  13N24L T 10
1JHT0088 53N24 e oW 10 1JIK0026 4v33 e 2025 10
1JHT0089 53N25 R D eV 10 1JIK0029 41v24 e e T 2025 10
1JHT0080 53N27 e oW 10 1JIK0020 4135 e G op TIGs-20-25 10
1JHT0002 SINSGXL et b gos lens omd T1024-24W 10

1JHT0003 53N59XL e e ey | 2 2W 10

1JHT0004 53N60XL R oy 124240 10

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 30

EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



CONSUMABLES TIG 17-18-26 Zi&#F

CE©®

1JIK0022

29

1JHV0018-05

'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
'
4
I
'
'

== @ &

IJIK0062 1JIK0023

1JHV0017-05

,
1JHLO079 | , 1JHLO018 (I 1JHLO016 } 1JHLO019
1 ) ' =3 -—
' , , '
: ' ' E
© 3/8-32UNF 3/8-32UNF 3/8-32UNF 3/8-32UNF
3 JHG0007-16
3/8-24UNF 5 3 5
: 13/32-16UNF 1"-16 3/4-16UNF
1
. 1JHG0017-05 1JHG0013-05 1JHG0012-10
' : H H
' '
' ' ' '
' ' ' '
' ' ' '
' ' '
----------------- - P B
: : i - : : :
IJHT0078 IJHT0079 1JHT0070 '
- : IJHT0031 IJHT0038 1JHT0097 IJHT0098 IJHT0099
| . —
' ﬂ 3 , 1JHT0030 o
'
€ : R b
] — i . 3
6.4 8 ©9.5 '
' £
! — }—1 —
IJHT0076  IJHT0072 1JHT0073 ' — — ©6.5 ©9.5
T ' 9.5 »12.5
1 ° , IJHT0090 IJHT0096 1JHT0093
@ 1 IJHT0037 IJHT0039 T
1 ! b ]
— — i i g
D11 »12.5 16 ! ©
' <
1
' L
'
' D11 »12.5 ®19.5
'
'
__________________________________ LI IJHT0042  |JHT0043 IJHT0044
' —
i |
' '
' '
IJHT0018 IJHT0019 IJHT0010 IJHT0016 IJHT0012 IJHT0014
g a ﬂ l |
— — o
— — — — — 6.5 8 9.5
6.5 »8 ®9.5 o1 ®12.5
®19.5
1JHT0051 1JHT0057 1JHT0058 1JHT0059 1JHT0050 IJHT0045
' | ﬂ ' | | ' |
— . — — — —
6.5 8 9.5 11 125 ®12.5
31 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEEIMER. NBEREFNSERSHEIR, BEIHERAR (AFEN)



CONSUMABLES TIG 17-18-26 Zi&#F

Code Ref. Description Pack Code Ref. Description Pack
HGO01205  45V29 e e 1626 10 1JHT0042 5ANT7L AU Cup g lens SRoL/TIGTT 18:26 10
UHGO!210 4524 Cximsiommmoirezs 10 UHTOOsS  saNGL g cup gaslens SRALTION-16:26 0
UHGOOI216 4525 Samisstemmiiciiezs 10 UMTOO4s  SaNISL g cup guslens SRILTIGN-16:26 0
UHGOOT220  70060WT  Sopethody gaslens 6 2.0mm AIG1718-26 10 1JHT0045 54NTAL fming cup gas lens SRELITIG716-26 10
UHGO022¢  4SV26  Samsammmarioze 0 UNTOOS!  ONsOL e e SRATICT 026 10
UHOO!232 4527 Cxmsommimoiiez 0 UHTOOS7  TowsL  pemhecmSReLTIeT 26 10
WHG0012-40  45V28 o g 1826 10 HT0058 10N48L e T 26 10
rooosts s (EESLTOReRs@n oL o o owa  fmmccpdeliionior o
UHGOOIS24 4V eyt sammmo0gs o0 UHTOOZ2 BNz e e T 02 0
UHOOOTS32 995795 fgxtaislsin o sommo 856 0 UHTOOTS 13Nz pemheckenonienzozs 0
UHGOOIS40  45V63 gl sommmcir 528 & UHTOO7S e pemnecmOR TGO 025 0
UHGOOT705  TON29 Gk 0mmimio 1626 0 UNTOO7S 1308 pumnecmoRiTIey 2025 10
UHGOOTT0  TONSO i ommiTi 1626 0 UHTOOT9 1IN0 pmhecpeReTIcsz02s 0
UHGOOTM6  TONS o mmmion16:26 0 UHTOOT0  TaNO  pumrececReTon 2026 0
UHGOO17-20  T0064WT  Gs sommcir 6 26 10 UHTOOYS  saN1p  plmnecupgce ens GRITTION 1626 10
e Gtz o wowe s feempesemiorin "
IHG0017-32  10N28 2 oy 2 10 LHT0097 5aNT8 Aluming cup gas ens GR4 TIGT?18-26 o
IHGOO17-40 406488 O a2 26 10 IJHT0098 54N17 TS Sup s lons GRS TIG7-18-26 10
UHGOOTT-48 3026 e semmciraazs 10 UHTO99 ANl g cup gesiens OR6TION 1626 0
NHLOO™ 18CG e 1826 10 WHVOOT710  10N22 et o 1.omm Tov 1026 10
WHLOOT9 54NOT e oy gaslensTIG17-18-26 10 HVOOT716  10N23 Qllero temm He1718-2¢ 10
UHOOT 180620 ESeayiass 10 UHVOOTI20  ToNZsM St e2omm T e 10
HHT0012 10N46 e A 10 HVOOT7-24  10N24 Lher 0 24mm Tio1718-2¢ 10
NHT0013 10N45 R ooy e 28 10 HVOOT7-32  10N25 et 0 32mm or 028 10
LHTO014 10N44 P b LA 10 HVOOT7-40  54N20 ller 0 40mm TiG1718.2¢ 10
WHTO016 10N47 B 26 10 HVO018-05  1ON21S Ll 0 05mm 6171826 10
NHTOO18 10N50 B G e D26 10 HVOOT810  10N22S et L omm Mo 82 10
NHT0019 10N49 B Cre oy e 26 10 IHVOO1816  1ON23S s o vemm o162 10
LHT0010 10N48 P AN 10 LUHVO001820  TON23MS el ®20mm TIOT718:26 10
LHTO031 5IN75 flurming cap gas lens XL GR 10 HVOO18-24  10N24S et @ 2dmm T8 2% 10
LHT0037 5IN74 IO gos lens XL GRS 10 HVO018-32  10N258 et 0 32mm o1 18-2¢ 10
IJHT0038 53N88 R oab 30 Jens XL GRIO 10 1JIK0022 57v02 Long bock e Do/ 16:26 10
LJHT0039 53N87 i u gos lens XL GR12 10 k0023 57Y04 Short back cap TIo17-16-26 10
IJHT0030 53N89 fluring cap gas lens XL GRIS 10 1IK0062 57Y03 Medium back cop TIG17-16-26 10
Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 32

EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



CONSUMABLES TIG 12 ZiR#F (€©®

1JIKO689 . 1JIK0680

o M ———= I

IJHLO086 | ] IJHL0082

1
1
1
!
1JHG0078 b IJHGO0077-16
1
1
: :
1 1
! |
CT T T T T T oo TTTTTTT T T T s T s s e e e .
' 1 ' 1
IJHT0694 IJHT0695 IJHT0601 IJHT0607 IJHT0608 1JHT0031 IJHT0038 1JHT0037 IJHT0039
<
— — — . — — — — ]
®9.5 ®9.5 ®9.5 ®9.5 9.5 ®9.5 ®12.5 16 »19.5
IJHT0697 IJHT0698 IJHT0699 IJHT0690 I1JHT0696 IJHT0692 [JHTO693 IJHT0030
™
— — — —
9.5 $9.5 9.5 $9.5 $9.5 9.5 9.5
33 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEIMEIR. NBREANSSHESHEIR, BATERAR (ATEN)



CONSUMABLES TIG 12 SZ#+ €

Code Ref. Description

IJHGO077-16 11GL16 Collet Body gas lens @ 1.6 TIG12;SEEEK © 1.6 TIG12
IJHG0077-24 1GL32 Collet Body gas lens @ 2.4 TIG12;SEEEM © 2.4 TIG12
IJHG0077-32 11GL18 Collet Body gas lens @ 3.2 TIG12;S&EZM © 3.2 TIG12
1IJHGOO077-40 11GL53 Collet Body gas lens @ 4.0 TIG12;S£&E#&EM © 4.0 TIG12
1JHG0077-48 1GL36 Collet Body gas lens @ 4.8 TIG12;SEEER © 4.8 TIG12
1IJHGOO78 1MWP65 Collet Body(All sizes) TIG12;EBfxLE(£R~T) TIG12
1JHJ0981 WP-12 Torch body, includes nozzle gasket (70°);#88/# 4 &% E/70°
IJHLO082 12NG Nozzle gasket; &5 E

1JHLO086 12GLG gas lens insulator TIG12; SEIEFMBEZIETIGI2

IJHT0031 57N75 Alumina Cup gas lens XL GRé;likgas lensFE&EBE GR6
IJHT0037 57N74 Alumina Cup gas lens XL GR8;iil:Agas lensFAM&EEE GRS
IJHT0038 53N88 Alumina Cup gas lens XL GR10;l:Xgas lensFAME&EEE GR10
IJHT0039 53N87 Alumina Cup gas lens XL GR12;10:Kgas lensFEEREE GR12
IJHTO030 53N89 Alumina Cup gas lens XL GR15 short;ilkgas lens BMR&E R/ &R
IJHT0692 14N61-10 Alumina cup/GR10 TIG12;M& B H/GR10 TIG12

IJHT0693 14N61-12 Alumina cup/GR12 TIG12;&BE/GR12 TIG12

IJHT0694 14N68 Long alumina cup TIGI2;IIMEREE TIG12

1JHT0695 14N69 Long alumina cup TIG12;IIKMEEBE TIG12

IJHT0696 14N61 Alumina cup/GR8 TIG12;/& /GRS TIG12

IJHT0697 14N57 Alumina cup/GR4 TIG12;/& B H/GR4 TIG12

IJHT0698 14N58 Alumina cup/GR5 TIG12;M& /GRS TIG12

IJHT0699 14N59 Alumina cup/GRé6 TIG12;& B HE/GRé TIG12

IJHT0690 14N60 Alumina cup/GR7 TIG12;M&E 1 HE/GR7 TIG12

IJHT0601 14N70 Long alumina cup TIGI2;IIEMEERE TIG12

IJHT0607 14N71 Long alumina cup TIG12;IIKMEE B TIG12

IJHT0608 14N72 Long alumina cup TIGI2;IIEMERE TIG12

IJHV0077-16 85714 Collet ® 1.6 TIG12;E#&E ® 1.6 TIG12

IJHV0077-24 85715 Collet ® 2.4 TIG12;E81%&¥E © 2.4 TIG12

IJHV0077-32 85716 Collet ® 3.2 TIG12;E84%& 3k © 3.2 TIG12

IJHV0077-40 85717 Collet ® 4.0 TIG12;E84%&k © 4.0 TIG12

IJHV0077-48 85718 Collet ® 4.8 TIG12;E8%& 3k © 4.8 TIG12

IJHV0077-64 85719 Collet ® 6.4 TIG12;E8B1K&¥E © 6.4 TIG12

IJHWO0014 85WP13 Handle TIG12;F#& TIG12

1JIK0689 56Y45 Long back cap, includes O-ring; iKMtE#OR B

1JIK0680 56Y44 Short back cap, includes O-ring; & &lE OB &

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 34

EXTEEMER. NBREANSERSOER, BIHEAR (AFFHN)



CONSUMABLES TIG 22 ZiR#F (€©®

' 1JIK0688

-
1JHA0991
30
1JHA0997
o -
1JHV0671-10 1JHV0677-10
IJHLOO84 | 0 JHLo083

5/16-24UNF 5/16-24UNF 5/16-24UNF
WHGOO19-05 ﬂ 2 IJHGOO16-05 é {
H B ~
g 3/8-24UNF ) 9/16-18UNF
1716

1JHG0071-10

1JHTO031 IJHT0038 1JHT0037 1JHT0039 IJHTO007 1JHTO008 1JHTO009 1JHTO000 IJHTbOOé

2 ; ) ]
' — —i i — —i
[ — — — H 6.5 8
9.5 :

9.5 11 ®12.5
®12.5 12 ®19.5
1JHTO0030
L
IJHT6056 1JHT0052 1JHT0053 1JHT0054 IJHT0078  1JHTO079 IJHT0070  1JHTO076 IJHT0072 1JHT0073
FI' ) 3 ] Q
| — — = — — —
6.4 8 ®9.5 D11 ®12.5 16
— — i i
4 6.5 8 ©9.5 I1JHT0619
IJHTO611 1JHT0617 1JHT0618 1JHT0610
B
8
H
for ®6.5 8 9.5 6.5
35 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEIMEIR. NBREANSSHESHEIR, BATERAR (ATEN)



CONSUMABLES TIG 22 ZiR#F (€©®

Code Ref. Description

1JHG0016-10 45V42 Collet Body gas lens © 1.0 TIG22-24-24W; SEEEK © 1.0 TIG22-24-24W
1JHG0016-16 45V43 Collet Body gas lens @ 1.6 TIG22-24-24W;SEEEE 0 1.6 TIG22-24-24W
1JHG0016-24 45V44 Collet Body gas lens ® 2.4 TIG22-24-24W; SEER(K © 2.4 TIG22-24-24W
1JHG0016-32 45V45 Collet Body gas lens @ 3.2 TIG22-24-24W; S EEE(K © 3.2 TIG22-24-24W
1JHG0019-10 13N26 Collet Body ® 1.0 TIG9-20-22-25;E34% £ FE © 1.0 TIG9-20-22-25

1JHG0019-16 13N27 Collet Body ® 1.6 TIG9-20-22-25;884% R ® 1.6 TIG9-20-22-25

1JHG0019-24 13N28 Collet Body ® 2.4 TIG9-20-22-25;EBiRKEE © 2.4 TIG9-20-22-25

1JHG0019-32 13N29 Collet Body ® 3.2 TIG9-20-22-25;EBARKEE © 3.2 TIG9-20-22-25

1JHG0071-10 45V0204s Extra large gas lens ® 1.0 TIG9-20-22-25 IA S &i&E (K © 1.0 TIG9-20-22-25
1JHG0071-16 45V116S Extra large gas lens © 1.6 TIG9-20-22-25; 1A SEHERE © 1.6 TIG9-20-22-25
1JHG0071-24 45V64S Extra large gas lens ® 2.4 TIG9-20-22-25;IIASEIERK © 2.4 TIG9-20-22-25
1JHG0071-32 995795S Extra large gas lens ® 3.2 TIG9-20-22-25; MK SEEE © 3.2 TIG9-20-22-25
1JHL0083 22-10 Insulator torch body TIG22;#3L 48418 TIG22

1JHLO084 54N63-22 Gas lens insulator TIG22,SEiERAELIE TIG22

1JHT0031 57N75 Alumina Cup gas lens XL GRé;lllXgas lensFAMEEE GR6

1JHT0037 57N74 Alumina Cup gas lens XL GR8;hlXgas lensFM& B GRS

1JHT0038 53N88 Alumina Cup gas lens XL GR10;i0:Xgas lensF&E B GR10

1JHT0039 53N87 Alumina Cup gas lens XL GR12;ilKgas lensFAM&ELE GR12

1JHT0030 53N89 Alumina Cup gas lens XL short;ilkgas lensFM&EBIE/ G0

1JHT0052 796F71 Alumina Cup GRA4L TIG9-20-22-25 <& B GR4L TIG9-20-22-25

1JHT0053 796F72 Alumina Cup GR5L TIG9-20-22-25; M & B GR5L TIG9-20-22-25

1JHT0054 796F73 Alumina Cup GR6L TIG9-20-22-25; K& BEHE GR6L TIG9-20-22-25

1JHT0056 796F70 Alumina Cup GR3L TIG9-20-22-25; <& B GR3L TIG9-20-22-25

1JHT0072 13N12 Alumina Cup GR8 TIG9-20-22-25;F & H GR8 TIG9-20-22-25

1JHT0073 13N13 Alumina Cup GR10 TIG9-20-22-25;M& B GR10 TIG9-20-22-25

1JHT0078 13N08 Alumina Cup GR4 TIG9-20-22-25;i & BH GR4 TIG9-20-22-25

1JHT0079 13N09 Alumina Cup GR5 TIG9-20-22-25;#&H GR5 TIG9-20-22-25

1JHT0070 13N10 Alumina Cup GRé TIG9-20-22-25; &1 GR6 TIG9-20-22-25

1JHT0076 13N Alumina Cup GR7 TIG9-20-22-25;/ & Bi# GR7 TIG9-20-22-25

1JHT0006 53N61S Alumina Cup gas lens GR8 TIG22-24-24W;gas lensFMZELEE GR8 TIG22-24-24W
1JHT0007 53N58 Alumina Cup gas lens GR4 TIG22-24-24W;gas lensBM&EEE GR4 TIG22-24-24W
1JHT0008 53N59 Alumina Cup gas lens GR5 TIG22-24-24W;gas lensFAMZEBE GRS TIG22-24-24W
1JHT0009 53N60 Alumina Cup gas lens GR6 TIG22-24-24W;gas lensFMELEE GR6 TIG22-24-24W
1JHT0000 53N61 Alumina Cup gas lens GR7 TIG22-24-24W;gas lensFM&ELEYE GR7 TIG22-24-24W
IJHTO611 796F74 Alumina Cup GR3 XL TIG9-20-22-25 <M E B GR3XL TIG9-20-22-25

1JHT0617 796F75 Alumina Cup GR4 XL TIG9-20-22-25 45K E B GRAXL TIG9-20-22-25

1JHT0618 796F76 Alumina Cup GR5 XL TIG9-20-22-25 8H<M & BEHE GR5XL TIG9-20-22-25

1JHT0610 796F77 Alumina Cup GR6 XL TIG9-20-22-25 <M E B GROXL TIG-20-22-25
1JHV0671-10 22N21AL Collet ® 1.0mm TIG22 7";E84%3E ® 1.0mm/TIG22 7"

1JHV0671-16 22N22AL Collet ® 1.6mm TIG22 7";E84%K © 1.6mm/TIG22 7"

IJHV0671-24 22N23AL Collet ® 2.4mm TIG22 7";884%3E © 2.4mm/TIG22 7"

1JHV0671-32 22N24AL Collet ® 3.2mm TIG22 7";884%E © 3.2mm/TIG22 7"

1JHV0677-10 22N21A Collet ® 1.0 TIG22 3";884%% © 1.0 TIG22 3"

IJHV0677-16 22N22A Collet ® 1.6 TIG22 3";E34%3k © 1.6 TIG22 3"

1JHV0677-24 22N23A Collet ® 2.4 TIG22 3", 84k © 2.4 TIG22 3"

1JHV0677-32 22N24A Collet ® 3.2 TIG22 3";84k¥k © 3.2 TIG22 3"

1JHA0991 WP-22A 7"long torch body; 7" 4k

1JHA0997 WP-22B 3"long torch body;3" 844

1JIK0688 22-7 Collet knob, includes O-ring;i&#AIEHOZLE

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 36

EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



CONSUMABLES TIG 27 Z#+ Y (€

20"
1JHJO901

9"
1JHJO907

IJHV0071-10

— 1JGU0600

1JHG0079-10
m o 1JHLOO8S 1JAGO061
1JHT0031 1JHT0037 IJHT0038 1JHT0039 LIHT0030

48

i —

®9.5 ®12.5 P16 ®19.5

37



CONSUMABLES TIG 27 ZiR#F €

Code Ref. Description

1JGU0600 181W89 O-ring;ORE

IJHG0079-10 49V22 Collet Body gas lens ® 1.0 TIG27;SZi&E#&/F © 1.0 TIG27
IJHG0079-16 49V23 Collet Body gas lens ® 1.6 TIG27,SZEi&E#K © 1.6 TIG27
IJHG0079-24 49V24 Collet Body gas lens ® 2.4 TIG27,S&EE{E © 2.4 TIG27
IJHG0079-32 49V25 Collet Body gas lens ® 3.2 TIG27,5S&EE &K © 3.2 TIG27
IJHG0079-40 49V26 Collet Body gas lens ® 4.0 TIG27;S&EHE © 4.0 TIG27
IJHG0079-48 49V27 Collet Body gas lens ®© 4.8 TIG27,5&E &K © 4.8 TIG27
IJHG0079-64 49V28 Collet Body gas lens © 6.4 TIG27,SEEEE © 6.4 TIG27
1JHJO901 WP-27B Torch head TIG27 20" ;TIG#3k TIG27 20"

1JHJO907 WP-27A Torch head TIG27 9" ;TIG#LTIG27 9"

IJHLO085 57N56 Gasket; 2@

IJHT0031 57N75 Alumina cup gas lens XL GRé;il:Kgas lensFAE&EEE GR6
IJHT0037 57N74 Alumina cup gas lens XL GR8;llAgas lensFAB&ERE GRS
IJHT0038 53N88 Alumina cup gas lens XL GR10;1l:Xgas lensFEERE GR10
IJHT0039 53N87 Alumina cup gas lens XL GR12;i0:Xgas lensFMERE GR12
IJHTO030 53N89 Alumina cup gas lens XL short; il Agas lensAEERRE/5EK
IJHV0071-10 57N45 Collet ® 1.0 TIG27;884%&%k © 1.0 TIG27

IJHV0071-16 57N46 Collet ® 1.6 TIG27;E8%¥k © 1.6 TIG27

IJHV0071-24 57N47 Collet ® 2.4 TIG27;8B%%E © 2.4 TIG27

IJHV0071-32 57N48 Collet ® 3.2 TIG27;8B&%Z © 3.2 TIG27

IJHV0071-40 57N49 Collet ® 4.0 TIG27;8B4%3%£ © 4.0 TIG27

IJHV0071-48 57N50 Collet ® 4.8 TIG27;8B4k%E © 4.8 TIG27

IJHV0071-64 57N51 Collet ® 6.4 TIG27;8&¥ © 6.4 TIG2

1JAGO061 45V11 Power cable adaptor;EB451EE 287

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 38
EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



AIR COOLING CABLES S2®4i

Y(E®

=\ =

3/8” 24 UNF TIG 9/17/24
5/8” 18 UNF TIG 26

Tig 9/17/24 - 2wires Tig 26 - 2wires
Threading L(m) Code  Threading L(m) Code
4 1JHO0002 4 1JHO0004
M12x1 8 lJHooopz M1 8 1JHO0005
4 1JHO0669 4 1JHO0666
3/8G 8 lHooseo  8C 8 I1JHO0662
Tig 9/17/24 - 4wires Tig 26 - 4wires
Threading L (m) Code  Threading L(m) Code
4 1JHO0627 4 1JHO0629
M12x1 8 IJHOOs28 ~ M12X1 8 1JHO0620
3/8” 24 UNF TIG 9/17/24
5/8" 18 UNF TIG 26
Tig 9/17/24 - 2wires Tig 26 - 2wires
Threading L(m)  Code Threading L(m) Code
7 1JHOB002 Z TJHO6004
M12x1 8 IJHOB003 ~ M12x1 8 1JHO6005
Tig 9/17/24 - 4wires Tig 26 - 4wires
Threading L(m) Code Threading L(m) Code
4 T1JHO8627 7 TIJHO6629
M12x1 8 IJHOBG28 ~ M12x 8 IJHO6620

3/8” 24 UNF TIG 9/17/24
5/8” 18 UNF TIG 26

Tig 9/17/24 - 4wires Tig 26 - 4wires
Threading L(m) Code Threading L(m) Code

4 1JHO7637 4 1JHO7639
M12x1 8 IJHO7638 M1 8 1JHO7630
Tig 9/17/24 - 6wires Tig 26 - 6wires
Threading L(m)  Code Threading L(m) Code

4 [JHO7627 4 1JHO7629
M12x1 8 IJHO7628  M12x1 8 IJHO7620

39

Code Description Pack
Complete outer cover 4m M12X1/TIG9-17-24/2 control wires

14100002 EBUAE/4m/M12X1/TIG9-17-24/ izl !
Complete outer cover 8m M12X1/TIG9-17-24/2 control wires

1JH00003 EBU4E/8m/M12X1/TIG9-17-24/ izl !
Complete outer cover 4m M12X1/TIG26/2 control wires

NHO0004 G yesmaminaxi TG 26/ —stesite !
Complete outer cover 8m M12X1/TIG26/2 control wires

HHO000S G yesmgmnraxi TG 26/ —istesite !

1JHO0627 Complete outer cover 4m M12X1/TIG9-17-24/4 control wires ]
EBU4E [ 4m/M12X1/TIG9-17-24/ MMz HI 4

1JHO0628 Complete outer cover 8m M12X1/TIG9-17-24/4 control wires ]
B4 /8m/M12X1/TIG9-17-24/ Btz Hl 4
Complete outer cover 4m M12X1/TIG26/4 control wires

HHOD629  cagssmiamimnzximicze mistesits !

1JHO062 Complete outer cover 8m M12X1/TIG26/4 control wires 1

HHO0620  agpsmiaminmaxi TiG26 mistesiss

1JHO0662 Complete outer cover 8m 3/8G/TIG26/2 control wires 1
3448 /8m/3/8G/TIG26/ =L

1JHO0666 Complete outer cover 4m 3/8G/TIG26/2 control wires 1
448 /4m/3/8G/TIG26/ izl

1JHO0669 Complete outer cover 4m 3/8G/TIG9-17/2 control wires 1
448 /4m/ 3/8G/TIGY-17/ =L
Complete outer cover 8m 3/8G/TIG9-17/2 control wires

JHO0660 EB4I4/8m/ 3/8G/TIG-17/—E#hI%k !

1JHO6002 Complete outer cover 4m M12X1/TIG9-17-24/2 control wires/leather tube 1
B3RS /Am/M12X1/TIGO-17-24/ ZiMEHI% BRIPE

1JHO6003 Complete outer cover 8m M12X1/TIG9-17-24/2 control wires/leather tube 1
AR /8m/M12X1/TIGY-17-24) Z izl 4 FiPE

1JHO6004 Complete outer cover 4m M12X1/TIG26/2 control wires/leather tube 1
B4R/ Am/M12X1/TIG26/ —HRHI% AP E

1JHO6005 Complete outer cover 8m M12X1/TIG26/2 control wires/leather tube 1
B4R /8m/M12X1/TIG26/ — R HI% AP E

1JHO6627 Complete outer cover 4m M12X1/TIG9-17-24/4 control wires/leather tube 1
EBUAE/4m/M12X1/TIG9-17-24/ Wil 4 P &

1JHO6628 Complete outer cover 8m M12X1/TIG9-17-24/4 control wires/leather tube 1
EB44E/8m/M12X1/TIG9-17-24/ Witz 4 P &

1JHO6629 Complete outer cover 4m M12X1/TIG26/4 control wires/leather tube 1
B4R/ 4m/M12X1/TIG26/TU R HI% AP E

1JHO6620 Complete outer cover 8m M12X1/TIG26/4 control wires/leather tube 1
EB404E/8m/M12X1/TIG26/ IR HI% AP E

1JHO7627 Complete outer cover 4m M12X1/TIG9-17-24/6 control wires/leather tube/silicon 1
BN/ 4m/M12X1/TIGY-17-24 RIS HI L BUP B[R AR S

1JHO7628 Complete outer cover 8m M12X1/TIG9-17-24/6 control wires/leather tube/silicon 1
BB /8m/M12X1/TIGY-17-24 R E HI L BP B[R

1JHO7629 Complete outer cover 4m M12X1/TIG26/6 control wires/leather tube/silicon 1
EBNAR/4m/M12X1/TIG26 /NS4 B AP B R E

1JHO7620 Complete outer cover 8m M12X1/TIG26/6 control wires/leather tube/silicon 1
EBATAR 8m/M12X1/TIG26/ 7S HI 4 AP B R E

1JHO7637 Complete outer cover 4m M12X1/TIG9-17-24/2 control wires/leather tube/silicon 1
AR/ Am/M12X1/TIGS-17-24/ Z il 2 P B B AR S

1JHO7638 Complete outer cover 8m M12X1/TIG9-17-24/2 control wires/leather tube/silicon 1
ES5A/8m/M12X1/TIGY-17-24/ Z S/ BIP B R E

1JHO7639 Complete outer cover 4m M12X1/TIG26/2 control wires/leather tube/silicon 1
EBATAR/Am/M12X1TIG26/ Z S HI % RIP ERERE

1JHO7630 Complete outer cover 8m M12X1/TIG26/2 control wires/leather tube/silicon 1

EBSE4R/8m/M12X1/TIG26/ & RIP B RE




AIR COOLING CABLES S84

Y(E®

POWER CABLE

3/8 24 UNF TIG 9/17/24
5/8 18 UNF TIG 26

.

TIG 9/17/24 TIG 26

Threading L (m) Code  Threading L(m) Code
4 1JHO0016 4 1JHO0013

M12x1 8 lHoootz M1 8 1JHO0014
4 1JHO0605 4 1JHO0667

318G 8 IJHOoes1 /%G 8 1JHO0668

3/8 24 UNF TIG 9/17/24

5/8 18 UNF TIG 26

TIG 9/17/24 TIG 26

Threading L(m) Code Threading L(m) Code

7 1JHO0016-01 4 1JHO0013-01
M12x1 8 1JHO0012-01 ~ M12x1 8 1JHO0014-01
1 PIECE

TIG 9/17/24 - 3/8-24

TIG 9/17/24 - 3/8-24RH

TIG 26 - 5/8-18 TIG 26 - 7/8-14RH

TIG 9/17/24 TIG 26

L(m) Code L(m) Code
4 IJHO0022 4 IJHO0687
8 1JHO0023 8 1IJHO0001
2 PIECE

P

TIG 9/17/24 - 3/8-24 5/8-18RH

TIG 26 - 5/8-18

TIG 9/17/24 TIG 26

L (m) Code L(m) Code
4 1JHO0061 4 1JHO0068
8 1JHO0067 8 1JHO0069

TIG 9/17/24 - 3/8-24 5/8-18RH

TIG 26 - 5/8-18 3

TIG 9/17/24 TIG 26

L (m) Code L (m) Code
4 IJHO0060 4 1JHO0064
8 1JHO0066 8 1JHO0065

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)

Code Description Pack
:
1JHO0012-01 ;"gg g;bmg;ﬁﬁr:g 341172_21472?5;(1;0947-24 1
I :
D 1
:
1JHO0016-01 g’géf qubmg;ﬁﬁr:g g/l11 72_);14725;%TIG9-17-24 1
o2 g R :
1JHO0023 ;’ég g&?lTelng;i 78/; iT‘:IG9-17 USA ;
oy :
rooost R :
oooss RS :
1JHO0066 %Qg%ﬁﬁfg_ f;;ir/ ;r:t 2(1;?-17-24 USA ]
o0 e e 1
- :
e :
ok R T any ;
1JHO0661 f%vegr gﬁslse/fgﬁ 231_137/66 TIG9-17 ]
o T :
ronss e e T :
oo e :
1JHO0605 ;Oév%r mk;lsellgg; égﬁ’% TIG9-17 ;

40



WATER COOLING CABLES k¢844

Y(E®

Code Description Pack
(o) Complete outer cover 8m M12X1 TIG20/2 control wires
P 1HO0026 A 8m M12X1/TIG20/ ZitHaslL !
3/8 28LH-TIG 18 ‘ 280 -
H20 1JHO0028 Complete outer cover 4n_1 M12X1 TIG18/2 control wires 1
w2t o= EBATA 4m M12X1/TIG18/ ZituRhilL
Complete outer cover 8m M12X1 TIG18/2 control wires
_GAS 4HO0029 HRHE 8m MI2X1/TIGI8/ AL !
Complete outer cover 4m M12X1 TIG20/2 control wires
IJH00020 EBHE4R 4m M12X1/TIG20/ Z il !
TIG 18 - 2 wiers TIG 18 - 4 wiers 1UHO6622 Complete outer cover 8m M12X1 TIG18/4 control wires/leather cover ]
L(m) Code L(m) Code B4 8m M12X1/TIG18/ s HI%/ RiIPE :
4 1JHO0028 4 1 JHO0026 1JHO6623 Complete outer cover 4mM12)<1 TIG 20/4 control wires/leather cover 1
8 1JHO0029 8 1 JHO0022 EB4E4E 4m M12X1/TIG20/MUEHEHI%&/ R iF &
1JHO6624 Complete outer cover 8m M12X1 TIG 20/4 control wires/leather cover 1
EB454H 8m M12X1/TIG20/IUHEHIL&/ R iFE
1JHO6626 Complete outer cover 4m M12X1 TIG18/4 control wires/leather cover 1
84548 4m M12X1/TIG18/ itz &/ RIPE
1JHO7622 Complete outer cover 8m M12X1 TIG18/6 control wires/leather cover/silicon 1
o B4 8m M12X1TIGI8/ATEHIL RIP B/ RE
I A\'\l/ 1JHO7623 Complete outer cover 4m M12X1 TIG20/6 control wires/leather cover/silicon 1
3/8 28LH-TIG 18 3I8 o BB Am M12X1/TIG20/ /NSRBI &I AP B R E
’\‘ZX)\ s 1JHO7624 Complete outer cover 8m M12X1 TIG20/6 control wires/leather cover/silicon 1
XN\ BB 8m M12X1/TIG20/ NSRRI & AP B[R E
3 GAS Complete outer cover 4m M12X1 TIG18/6 control wires/leather cover/silicon
=T 1146 -GAS HHOT626 e am MG BIATS BRI PR R '
1JHO7632 Complete outer cover 8m M12X1 TIG18/2 control wires/leather cover/silicon ]
TIG 18 - 2 wiers TIG 18 - 6 wiers f’mﬂl Btm M1t2X1/T'G1i‘ﬁi@ﬁiﬁiﬁﬁfl o o
omplete outer cover 4m control wires/leather cover/silicon
L(m) Code L (m) Code IHO7633 B8R 4m MI2XTIG20/ SR R B !
4 IJHO7636 4 IJHO7626 1JHO7634 Complete outer cover 8m M12X1 TIG20/2 control wires/leather cover/silicon 1
8 IJHO7632 8 IJHO7622 BB 8m M12X1/TIG20/ ZiSHEHI &/ P B R E
1JHO7636 Complete outer cover 4m M12X1 TIG18/2 control wires/leather cover/silicon ]
B34 Am M12X1/TIG18/ ZiEHI& [P E/ERE
1/4-28 TIG 20/25/24W
TIG 20/25/24W - 2 wiers TIG 20/25/24W - 4 wiers
L(m) Code L(m) Code
4 1IJHO0020 4 1JHO6623
8 1IJHO0026 8 1JHO6624
1/4-28 TIG 20/25/24W
TIG 18 - 2 wiers TIG 18 - 6 wiers
L (m) Code L (m) Code
4 IJHO7623 4 1IJHO7633
8 IJHO7624 8 1JHO7634
41 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEEMER. NBREMANSERSOER, BIHEAR (AFIFHN)



CABLES =84§

Y(E®

Code Description Pack
GAS CABLE Water tube 4m TIG18 USA
1JHO0031 arer e = 1
_?;‘;5- ] Mo —mE | 5518 A8 4mITICI8/%
Gas tube 8m TIG18-20 USA
. . 1JH00036 S 8m/TIG18-20/5 !
Threading L(m) Code Threading  L(m) Code
Water tube 8m TIG18 USA
1/4G 4 |JHO0052 5/8-18 4 1JHO0030 1JHO0037 KE Bm/TIG18/25 1
8 1JHO0053 8 1JHO0030 1JHO0038 Water tube 4m TIG20 USA 1
K& 4m/TIG20/%E
Water tube 8m TIG20 USA
1JHO0039 KE 8mITIG20/EK !
Gas tube 4m TIG18-20 USA
WATER CABLE 1JH00030 =& 4m/TIG18-20/%7 1
E— S (oo 5o 1oL L0042 o a2 :
TIG 18 Power cable 4m M12X1 TIG20/silicon
) . 1JH00042-01 JKEBSS Am/M12X1/TIG20/BERRE 1
Threading L(m)  Code Threading L (m) Code Power cable 8m M12X1 TIG20/silicon
4 1JHO0610 4 1JHO0031 1JHO0043 TKE Bm/MI2X1/TIG20/ e E !
358G 8 IJHO061 5/8-18LH 8 IJHO0037
JHO0616 HO0043-01 Power cable 8m M12X1 TIG20 ]
FKEBZE 8Bm/M12X1/TIG20
= Power cable 4m M12X1 TIG18
e = 13’ 86 w 5/8-18LH HHOo0048 KEBH AmIMI2X1ITIGIB !
TIG 20/25/24W Power cable 4m M12X1 TIG18/silicon
1JH00048-01 1
Threading L (m) Code Threading  L(m) Code KBS Am/MI2X1TIGI8 /B E
Power cable 8m M12X1 TIG18
4 1JHO0612 ] 4 1JHO0038 1JHO0049 ; 1
3/8G 8 IJHO0613 5/8-18LH 8 1JHO0039 ’:M 8'"'2 I"M;XCE: T
'ower cable ocm silicon
1JHO0045-01 JKEBSS 8m/MI12X1/TIG18/EERRE !
1JHO0052 G tube Am 114G 1
POWER CABLE 1JHO0053 G tubo B 114G 1
318 24LH -TIG 18 14H00094 o T 1
m 5 M12x1 LHO0007 Power cable 8m TIG18 USA ]
. ﬂ KB 8m/TIG18/ER
‘ Water tube 4m 3/8G TIG20
1/4-28 - TIG 20/25/24W 1JHO0613 e oy 11020 1
TIG 18 TIG 20/25/24W Water tube 8m 3/8G TIG18
1JHO0616 K& 8m 3/8G/TIG18 1
Threading L(m) Code Threading L (m) Code Water tube 4m 3/8G 1116
ot 4 1JHO0048 ey 1 1JHO0042 1JHO0610 K& 4m 3/8G/TIGI8 1
X X
8 1JHO0049 8 1JHO0043 1JHO0683 Power cable 4m TIG20 USA 1
JKEBE/4m/TIG20/%E=
Power cable 8m TIG20 USA
3/8 24LH - TIG 18 1JHO0684 IKESE/8m/TIG20/ZEx !
=t g - M12x1
R =5
e -
1/4-28 - TIG 20/25/24W
TIG 18 TIG 20/25/24W
Threading L(m) Code Threading  L(m) Code
Wt 4 1JHO0048-01 121 4 1JHO0042-01
% 8 1JHO0049-01 X 8 1JHO0043-01
3/8 24LH - TIG 18
\
[
-
1/4-28 - TIG 20/25/24W
TIG 18 TIG 20/25/24W
Threading L (m) Code Threading  L(m) Code
1814 4 1JHO0094 — 4 1JHO0683
] 8 IJHO0607 ] 8 1JHO0684
Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 42

EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



PLUGS & FITTINGS #%&:3k

3/8-24 1JUZ8080
[
i = —EI
|
! TIG9-17-24
| TIG18
3/8-24 L 1JUZ8089 |
o _
3
1/4-28 L 1JUZ8087

5/8-18 1JUZ8092

8 M12+1  1JUZ0027
M14+1.5 1JUZ0029

M16+1.5 1JUZ0063

M10+1  1JUZ0067

3/8G 1JUZ8076

8[ M12+1  1JUZ8075
3/8G 1JUZ8081

° TIG26 ° M16+1.5 1JUZ0064
= BI M12+1  1JUZ8098
3/8G 1JUZ8072

TIG9-17 TIG20-24W-25
3/8-24 1JUZ8095 1JUZ8096 7/8-14LH
- g
TIG26 TIG18
5/8-18 L 1JUZ8071 1Juz808e 7/8-14LH
‘9 [
o 9[
)
Q
M12X1. 0 1JUZ3011 f
Code Description Pack Code Description Pack
Cable connector 8mma/9mm F M12X1 Cable connector 4mma/6mm F 3/8G TIG20
1uzoo27 ALLHEL 8mma/9mm F MI2X1 10 1JUZ8o81 AL dmmalémm F 3/8G/TIG20 10
Cable connector 8mma/9mm F M14X1.5 Cable connector 7/8-14UNF LH TIG18 Back/USA
1JUZ0029 AL ELEBmma/9mm F M14X1.5 10 1Juzsosé TSELEL 7/8-14UNF LH TIGI8/E28/25 10
Cable connector 16mma/9mm F M16X1.5 Cable connector 4mma/6mm F 1/4-28UNF
1JUZ0063 AELHEL 16mma/9mm F M16X1.5 10 1uz8087 AR 4mma/emm F1/4-28UNF 10
Cable connector 25mma/10mm F M16X1.5 Cable connector 8mma/9mm M 3/8-24UNF
UZ0064 §I5R Sk 25mma/10mm F MI6X1.5 10 11UZ8089 RS Bmma/9mm M 3/8-24UNF 10
Cable connector 16mmag/9mm F M10X1 Cable connector 16mma/9mm M 3/8-24UNF
1UZ0os67 L 16mma/Imm F MIOXT 10 14UZ8080 §ELLHEL 16mma/9mm M 3/8-24UNF 10
BRAID CONNECTOR; Cable connector 25mma/10mm M 5/8-18UNF
1uzson RRAERTIGCOKSE, SBHE) 10 uZ8092 L, 25mma/10mm M 5/8-18UNF 10
Cable connector TIG26 front/USA 2 pcs Cable connector TIG9-17 front/USA
UzZ8o71 TR TIC26/BRER | EHE 10 1JUZ8095 TRBEL TICO-17/AH/ER S BHE 10
Cable connector 25mma/10mm F 3/8G Cable connector 7/8-14UNF LH TIG20 Back/USA
1Uz8072 EREIESL 25mma/10mm F 3/8G 10 11UZ8096 $TERLESL 7/8-1AUNF LH TIG20/30/Zx0 10
Cable connector 4mma/6mm F M12X1 Cable connector 25mmg/10mm F M12X1
1JUZ8075 FREIESL Ammajemm FM12X1 10 1JUz8098 RS 25mma/10mm F M12X1 10
Cable connector 16mmag/9mm F 3/8G
1Juz8076 $RLEL 16mma/9mm F 3/8G 10
43 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEIMEIR. NBREANSESRESHEIR, BATERAR (ATEN)



PLUGS & FITTINGS &3

Code Description Pack
Connector with hexagon nut 5/8-18UNF
o] 5/8-18 R 1JAU9011 LIAU9011 #E3L3 5/8-18UNFIARAMER 10
© 5/8-18 L 1JAU9017 Connector with hexagon nut 1/4G
WAU9012 3L /4G BREE 10
Connector with hexagon nut M16X1.5
MAU901S S MI6XT5/ARNES 10
Connector with hexagon nut 5/8-18UNF
1JAU9014 3K 5/8-18UNFIARMIES 10
114G 1JAU9012 1JAU9015 Connector with hexagon nut 3/8-24UNF 10
M16+1.5 1JAU9013 3Lt 3/8-24UNF/7RNIRE
M10+1 1IJAU9019 Connector with hexagon nut 3/8G
WAU9016 3L 3/86/ARAEE 10
Connector with hexagon nut 5/8-18UNF LH
MAU90T7 3L 5/8-18UNF LH/ARSMES 10
Connector with hexagon nut M12X1
5/8-18 1JAU9014 MAU9018 EkE MIXARAES 10
3/8-24 1JAU9015 Connector with hexagon nut M10X1
1JAU9019 3 e 10
3/8G 1JAU9016 LT MIOX1/SANEE /
. Connector with hexagon nut 9/16-18
M12-1 1JAU901TS NAUOTO g5 orie-ta/rmmizs 10
9/16-18 1JAU9010 c rocing oduptor MTZXI 3150
onnetecing adaptor -
AUS612 IREL M12X1-3/86 10
Connetecing adaptor M12x1 5/8-18UNF
MAUS613 £HESL M12x1 5/8-18UNF 10
M12+1(M)/3/8G(F) 1JAU5612 -
Connetecing adaptor M16X1.5-M16X1.5 F
M12+1(M)/5/8-18(F)  1JAU5613 JAU5614 SEHESL M16X1.5-M16X1.5 F 10
M161.5(M)M16-1.5(F)  1JAU5614 LAUS616 Connetecing adaptor M12x1 1/4G 10
M12+1(M)/1/4G(F) IJAU5616 iRk M12x11/4G
GAS FITTINGS
Code Description Pack
1JIRO768
1JIRO768 %anector 2 holes 10
g
Connector 3 holes
. ‘ , 1JIR0748 ooy 5
Connector 5 holes
UIR0767I BT 5
Centre adaptor torchside PLASMA without back box and pins
VAYOO74  smresimiAwmEmt 0
1JIR0748
UJIR0767
2 3
1 ‘2
e
1 3 5 1

1JAY0074

ELECTRIC PLUGS

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 44

EXTEIMER. NBREHNSESHESHER, BATERAR (ATEN)



SWITCH #x

Code Description Pack
ERGOTIG HANDLE ORANGE/GREY GRIP
UHWO0694 RETICFREE/REHRE 10
ERGOTIG HANDLE BLUE/GRIP/NEW/WITHOUT LOGO
JHWO0695 RETIGFHE/BEHRE 3/ RHLOGO 10
ERGOTIG HANDLE GREY/GRIP/NEW
IJHWO0696 RETICFAARE/BEIRE/F 10
ERGOTIG HANDLE GREY/GRIP/WITHOUT LOGO
1JHW0696-01 RETIGFAARE/BEHRE/RHLOGO 10
ERGOTIG HANDLE RED/GRIP/NEW/WITHOUT LOGO
B urorrs HW0608 IRETIGERAIE/BEHBE/H/AELOGO 10
COVER FOR TIG HANDLE/FOUR TIG
HIK0563 FRFRE MRE R EAIEE/PACG BE 10
rrrrrrrrrrrr o 1JIK0568 1JIKO566 Cover for TIG handle/with potentiometer/black 10
FRFFXRE/FUNENRE/ BE/ESRERE
— Dustproof pad
\‘ rrrrrrrrrrrr L | ikoses HIkose7 s 10
Cover for tig handle/single
1JIR0220 1IKo568 TSR 10
rrrrrrrrrrrr W get UIR0221 Cover for ti
g handle/dual
1JIK0569 TR BT 10
Cover for tig handle/four
1JIK0560 A Y 10
77777777777 Push button for tig handle/single
m 1JIK0569 1JIK0593 IO AT 1S S o 10
. 5 Push button for tig handle/dual
' ,,,,,,,,,,,, MW ikoses HIK0594 TIGERFFLIREA/TR 10
- i ¥ 1JIKO595 Push button for tig handle/single switch and potentiometer TIG 10
1JIR0231 AT ST R B2
----------- Plg=: ie  JIR0224 Push button for tig handle/euro TIG
s 1JIK0501 feredbviivilpbd 10
Grey wheel
1JIK0502 R 10
SET FOR FOUR SWTICHES/GREY/WINN
,,,,,,,,,,,, IK0560 HIKo998 R XAMRIREWINN 10
LIK0999 SET FOR FOUR SWTICHES/GREY/RAL7030 0
POFF K Bh & RERRY SR /RAL7030
e
t ,,,,,,,,,,,, . B ikogos LIR0221 ASSEMBLY OF TIG SINGLE SWITCH/NEW TYPE 2011 TIG .
1JIR0237 L m FABFFRA /201
ASSEMBLY OF 5K SWITCH/NEW TYPE 2011
- 1JIKO567 MIR0222 SKFFXAH/F 2011 10
-
ASSEMBLY OF 47K SWITCH/NEW TYPE 2011
_ WIR0223 ATKFFSEAEAEI20TT 10
"""""" lﬁﬁ 1JIR0225 ASSEMBLY OF TIG DOAL SWITCH/NEW TYPE 2011
HIR0224 TIGRIFF LB/ F2011 10
ASSEMBLY OF TIG FOUR SWITCH/NEW TYPE 2011
WIR0225 TIGEImF XEH/Ft201 10
sl ASSEMBLY OF 5K SWITCH/HORIZONTAL/NEW TYPE 2011
"""""""" Q‘ 1 IK0566 MIR0226 SKENUFRE A /HR 2011 10
—— ASSEMBLY OF 5K SWITCH/NEW TYPE 2011
& t VIR0227 SKFF 3£ R 22011 10
S 1J1K0595 IR0228 ASSEMBLY OF 47K SWITCH/NEW TYPE 2011 0
1JIR0227 ATKFFERAF 2011
JIRO228 i 1JIR0222 ASSEMBLY OF 5K SWITCH/HORIZONTAL/NEW TYPE 2011
. 1JIR0223 HIR0229 SKENUFFE S H 2011 10
ASSEMBLY OF TIG SINGLE SWITCH/NEW TYPE 2011
LIR0220 TIGREFF %A/ Fzt 2011 10
ASSEMBLY OF TIG DOAL SWITCH/NEW TYPE 2011
rrrrrrrrrrrr Ql a0 HIR0231 TR X RS 01 10
d ASSEMBLY OF TIG FOUR SWITCH/NEW TYPE 2011
O HIR0257 TIGRTF AR/ H 2011 10
»»»»»»»»»»»» 1J1K0502
ASSEMBLY OF 47K SWITCH
m HIR0238 4TKEISFEXRAL 10
............ n ASSEMBLY OF 10K SWITCH
:j:?gggg g koo MIR0239 10KBNLFF BY 10
ASSEMBLY OF 10K SWITCH
MIR0239 ¢ £ IR0226 MIR0241 10KBH LA X404 10
IR0247 LIR0248 ASSEMBLY OF TIG FOUR SWTICHE/HORIZONTAL 10
TIGHIUFFX/EU iR AR
ASSEMBLY OF TIG FOUR SWTICHE/HORIZONTAL
HIR0249 TIGR mAAH /B 10
"""""" 1IK0563 IRO773 FEMALE TRIGGER WIRE CONNECTOR/5 HOLES/TIG/BLACK o
S I L) 11 5595 4/TIG/BE
.
“ rrrrrrrrrrrr IK0999
1JIR0248
rrrrrrrrrrrr 1JIR0249
45 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEIMEIR. NBREANSESRESHEIR, BATERAR (ATEN)



TORCH HANDLES F1#

S F‘ o— 1J1K0500
1R 0109 %/ Soft: IJIR0507
| He e F { C—IJ|K0500

1JIR0100 %/ Soft: 1JIR0508

| 8.3 o Il o_lJlKosog

IJIR0O101  1JIK0991

e a: 1
'%g-_ t - o—IJIKOSOQ

IJIRO107  1JIK0997

e | NIKo8o4

IJHW0696

= |JGU0864

IJIK0805
Ao,

r 1JIK0812
|

7
|
- T G v -
| |
| |
| |
—1

191K0819 | = 141K0871 ‘IJIK0878
| ikoste 1J1K0877 | 1JIK0879

IJIR0186

=== 1JGU0885

n
|

IJIR0017 IJHW0010

IJIR0031 IJHWO0016

1JIK0024 IJHW0016-01

»=
1JIR0041

IJHW0010-01

—— P4

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEIMER. NBREHNSESHESHER, BATERAR (ATEN)

Code Description Pack
1JGU0864 Sy SXBmm o
s i o
o i o
UHWOI601  hme oI 26/ b2z smm 0
oo e e o
HHWOOST FaTeEmRE ! 10
1JHWO0058 g:gg;;g ;%‘ffged ”
1JHWO0059 E%%Oﬁg ;%féeglow -
1JHWO0691 fj{%ﬁg;%‘%{e@l@g%ggrip "
1JHW0699 g’ﬁ%%‘%@%ﬁ%%%ﬁ? GRIP "
1JIK0024 Hg %Jé; V;t’; ge tail switch button "
1JIKO507 ;g&?;g}ﬂgBE%R%-F%;%F;?%EIS%SINGLEIORANGE/SOFT 10
1JIKO508 ;J;&%Q%g B;%R ;;gl ;ﬂ; I—/Igl;lﬁ[;lg%DOUBLE/ORANGE/SOFT 0
o0 R LK o
1JIK0816 ?;gtjgg ;gg&%gge ”
o el .
o SR o
oo SRR o
sy SSRgRRLT o
1JIK0804 %fg%'ﬁ{g g{ig;d\ o
HIkogos T, 10
1JIR0031 %‘(g%ssv%vitch TG o
o SRR o
1JIRO182 %%'g';;vg(%hggévg? pcb "
1JIRO101 %%ﬁ%%"éggﬁ \II'\{‘I"\I;H PCB/WINN TIG "
LIRO107 BRI 10

46



TORCH HEADS #3k €

Type Code Ref. Description Pack
TIG9 1JHA0015 WP-9 Torch Head TIG9 TIG9 #83k
1JHA0O71 WP-9V WP-9 1 Torch Head With Valve TIGY TIGY #83L/% 1R
Cd 1JHA0615 WP-9F WP-9V Torch Head TIG9 Flex TIG9 M6k
1JIK00?2 1JHA0671 WP-9FV  WP-9F Torch Head With Valve TIG9 Flex TIG9 Stk /w7

1JHA6011 WP-9P Auto Torch Head TIGY TIG9 Bahigsk
TIG 17 IJHAOO73  WP-17 Torch Head TIG17 TIG17 4¢3k

IJHA0088  WP-17F  Torch Head TIG17 Flex TIG17 sk
=§€ IJHA0673  WP-17V  Torch Head With Valve TIG17 TIG17 #:L/#581]
1IK0028 IJHA0674  WP-17FV  Torch Head With Valve TIGI7 Flex TIG17 I

1JHA6018 WP-17P Auto Torch Head TIG17 TIG17 Bzt sk

TIG18 1JHJO074 WP-18 Torch HeadTIG18 TIG18 #83k
IJHJ0075 ~ WP-18V  Torch Head With Valve TIG18 TIG18 #3k/#5RI7]
1JHJ0479 WP-18SC  Torch Head TIG18 HC TIG18 #83L/HC
1JHJ0674 WP-18F Torch Head TIG18 Flex TIG18 Ak
1JHJ0675 ~ WP-18FV  Torch Head With Valve TIG18 Flex TIG18 Si#83L/H &I
1JHJ6017 WP-18P Auto Torch Head TIG18 TIG18 B &tk

TIG 20 1JHJO081 WP-20 Torch Head TIGY TIGY 63k
1JHJO087 WP-20V  WP-9 1 Torch Head With Valve TIGY TIGY #6k/7 I
1JHJO478 WP-20SC  WP-9V Torch Head TIG9 Flex TIG9 Fitiesk
1JHJO781 WP-20F WP-9F Torch Head With Valve TIG9 Flex TIG9 Fikie L/ iR
1JHJ6011 WP-20P Auto Torch Head TIGY TIG9 BEhiesk

TIG 24 1JHJO080 WP-24W  Torch Head TIG24W TIG24W #83k
1JHJO780 WP-24WF  Torch Head TIG24 W Flex TIG24W itk
1JHA0080 WP-24 Torch Head TIG24 TIG24 &3k
IJHAO780  WP-24F  Torch Head TIG24 Flex TIG24Z 463k

TIG 25 1JHJO086 WP-25 Torch Head TIG25 TIG25 83k

TIG 26 1JHA0082 WP-26 Torch Head TIG26 TIG26 3k
1JHA0083 ~ WP-26V  Torch Head TIG26 Flex TIG26 ikt sk
IJHA0682 ~ WP-26F  Torch Head With Valve TIG26 TIG26 3L/
1JHA0683 WP-26FV  Torch Head With Valve TIG26 Flex TIG26 A sL/H 1R
1JHA6017 WP-26P Auto Torch Head TIG26 TIG26 Bzhtesk

SRS RN I I IS IV I TS (SN IS IO A S (S P (N IS I IS T BT I (O I I IS IS (TS I I

TIG 24 1JIK0027 VS-2 Valve TIG917 i@ TIG9/17
1JIK0028 VS-1 Valve TIG26 &I TIG26
O 310Amp
More water cooled system
47 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEEINER. NEREMHNSESRESHER, BATERAR (ATJEHN)



CABLE COVER #E&

Y(E®

IGCCC-3-10

IGCCC-3-25 IGCCC-4-22

IGCAP-9001 IGCAP-9002 IGCAP-9000 IGCAP-9008

Code Ref. Description Pack
IGCCC-3-10 TIG Sheathing Nylon CC-3-10 B &#FE 1
IGCCC-3-25 TIG Sheathing Nylon CC-3-25 BRIFE 1
IGCCC-4-22 TIG Sheathing Nylon CC-4-22 BRIFE 1
IGCAP-9001 Golden Cowhide Cable Cover £&&E1#8{R1FE 10CMx350CM 1
IGCAP-9002 Canvas Cable/Hose Cover FE¥ARAIERIRIFE 10CMx350CM 1
IGCAP-9000 Charcoal-brown Cowhide Cable Cover #Ha £ IEHB{RIPE 10CMx350CM 1
IGCAP-9008 Black Grain Pigskin Cable Cover BE#ERIER{RIFE 10CMx350CM 1

48



ELECTRONIC PLUG ®B5#&:5k C©®

IJIRO761 IJIRO768 IJIRO700 IJIRO765 IJIR0883 IJIRO720 IJIR0896 IJIRO806 IJIRO769
M19x1.0 M16x1.0 M16x1.0 M16x1.0 M16x1.0

J_f}? SN (& J 5 BR. (7 Qie

IJIRO763 IJIR0O763-01 IJIRO747 IJIR0741 IJIRO760 1JIR0762 IJIRO753 IJIR0O702 IJIR0O726 IJIRO703

1-1/4-18 1-1/4-18 15/16-20 15/16-20
UNEF-2B UNEF-2B
— — i
17.5mm 17.5mm
— — — — — — —
. . 12.5mm 21.5mm

—
26.6mm 26.6mm 24.8mm 23.5mm
@ @ @ @ "3 @
2PIN 4PIN 14PIN 14PIN 2PIN 3PIN 4PIN 8PIN 10PIN 14PIN
IJAY0074
IJIRO748 IJIRO767 IJIRO731 IJIR0732 1JIR0941-01 1JIR0941 JIR0721 IJIR0O865 JIR0151
M29x1.0

—
15.7mm

49 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.
EXTFETMER, NBEREGNSERSHER, BLHEAR (AIFHN)



ELECTRONIC PLUG ®S#&Hk

Y(E®

Code Ref. Description Pack
1JIRO761 Connector 2 holes Bt i 10
1JIRO768 Connector 2 holes B 10
1JIRO700 Connector 3 holes =& i 10
1JIRO765 Connector 5 holes At 10
1JIRO883 CONNTECTOR 6 HOLES/YS-16 75iMiiE/ YS-16 10
1JIR0720 Connector 7 holes tifiiE 10
1JIR0896 CONNTECTOR 2 HOLES/YS-16 Zisfntd/ YS- 16 /&3 10
1JIRO806 CONNECTOR 5 HOLES/BINDER E i fiiffi/ =& 10
IJIRO769 Connector 3 holes =i 10
1JIRO763 Connector 2 holes FiEfiiE 10
1JIR0763-01 Connector 4 holes HiSfiiE 10
1JIRO741 Connector 14 holes  EURAiiE 10
1JIRO747 Connector 14 holes  Ei&fiiE 10
1JIRO760 Connector 2 holes Bt i 10
IJIR0762 Connector 3 holes/With connectors/Pan =i/ #H1EHI% /M T 10
IJIRO753 Connector 4 holes/Meller AAHE/ # 10
1JIR0702 Connector 8 holes  &fiiE 10
IJIR0726 Connector 10 holes  &fiid 10
1JIR0O703 Connector 14 holes  EUi& iR 10
1JIR0748 Connector 3 holes =i mALiE 10
IJIRO767 Connector 5 holes A mAiiE 10
1JIRO731 Connector 7 holes ki 10
IJIR0O732 Connector 6 holes iEfiiE 10
1JIR0941-01 CONNTECTOR 6 HOLES/PAN/M NiGRiE/M T2 10
1JIR0941 CONNTECTOR 6 HOLES/PAN/F NiGiE /M /2 10
1JIR0721 Connector 7 holes tiifiiE 10
1JIR0865 Connector 4 holes IR 10
1JIR0151 Connector CX16-4T MU/S#iiER &L 10
IJAY0074 Centre adaptor torchside PLASMA without back box and pins &8 Bt/ REEEM 10
Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 50

EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



CABLE & PANEL CONNECTORS ‘iRi##Hk

Y(E®

51

mm Code amp.max N-m a b c d e
10-25 1JTR0091 200A 6 23 6 20 032 14
10-25 1JTR5091 200A 6 23 6 20 032 14
3570 1JTRO097 400A 18 34 65 30 048 21
35-70 1JTRO064 400A 13 33 63 30 038 21
70-95 1JTRO065 500A 20 33 63 30 038 24
70-95 1JTRO098 500A 25 34 65 30 048 24
mm’ Code amp.max N'm a b c d e
10-25 1JTRO071 200A 6 23 6 20 0325 14
35-70 1JTR0038 400A 18 23 6 305 ©38 21
70-95 1JTR0039 500A 25 33 6 305 038 24
mm’ Code amp.max e
10-25 1JTRO081 200A 14
10-25 1JTR5081 200A 14
35 1JTRO087 250A 21
50 1JTR0088 300A 21
70 1JTRO086 400A 21
70 1JTRO089 400A 24
95 1JTRO080 500A 24
mm’ Code amp.max e
10-25 1JTRO001 200A 14
35 1JTRO007 250A 21
50 1JTRO008 300A 21
70 1JTR0023 400A 21
70 1JTRO009 400A 24
95 1JTRO000 500A 24

Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.
EXTEIMEIR. NBREANSZSRSHER, BATETRAR (AIJEN)



CABLE & PANEL CONNECTORS 'Ri%#Hk

| 0.6m |

0.6m |

| 0.22m |

IJAI7645

IJTR6096

Code Description Pack
1JTRO043-01 gi%?fﬁ'#\tg pqe@;%gon nut 1/4G o
1JTRO044 g;gm&gg%gé% nut M16X1.5 -
Dl o
1JTRO045 g;f%e%t/%f_ ;”JS;,’;‘;;{@;; ﬁét 3/8-24UNF o
1JTRO045-01 g;ggt/%&jggfggéon nut 3/8G ”
R0 G e i o
1JTRO033-01 g;r‘;ﬁ% %i}ggeézgg%n nut M12X1 o
1JTRO034 g;'l%?ﬁﬁ% )\zi/t;geéggén nut M10X1 o
R S o
1JTR0035-01 %Og}gfmg ﬁdfillgt—% mgm 5/8-18UNF o
1JTR6686-01 g’gg;fmg)ﬁ%w M12x11/4G o
1JTROO51 g;%ef\;% %722%@&" nut M12X1 o
1JTRO051-01 gig%%%i/tggeégén nut M10X1 o
1JTRO041 gi%?%t,?gﬁ”g,; *;.?;;’,g%.‘; nut 9/16-18 o
RO G .
1JTRO049 %gg’fm% ﬂdg/gtﬁé m}gm 5/8-18UNF 0
1JTR0049-01 Connetecing adaptor M16X1.5-M16X1.5 F i

BRI M16X1.5-M16X1.5 F

52



TUNGSTEN ELECTRODES 54 €

Code Description Pack Code Description Pack
|

IJHC0017-10 Pure tungsten ® 1.0X150mm Green;Zi5/4% 10 IJHC0014-10 Tungsten Ce WC20 @ 1.0X175mm Grey; 5/ K& 10
IJHC0017-16 Pure tungsten ® 1.6X150mm Green;4i$5/2 € 10 IJHC0014-16 Tungsten Ce WC20 @ 1.6X175mm Grey; {3 /K& 10
IJHC0017-20 Pure tungsten ® 2.0X150mm Green; 455/ & 10 IJHC0014-20 Tungsten Ce WC20 @ 2.0X175mm Grey; i3/ K& 10
IJHCO017-24 Pure tungsten ® 2.4X150mm Green; &3 /4 & 10 IJHC0014-24 Tungsten Ce WC20 @ 2.4X175mm Grey 5/ & 10
IJHC0017-30 Pure tungsten ® 3.0X150mm Green; &$3/4 & 10 IJHC0014-30 Tungsten Ce WC20 @ 3.0X175mm Grey; s/ & 10
IJHC0017-32 Pure tungsten ® 3.2X150mm Green; #$3/4 & 10 IJHC0014-32 Tungsten Ce WC20 @ 3.2X175mm Grey; s/ & 10
IJHC0017-40 Pure tungsten ® 4.0X150mm Green; £E$3/4 & 10 IJHC0014-40 Tungsten Ce WC20 @ 4.0X175mm Grey; s /K& 10
IJHC0017-48 Pure tungsten ® 4.8X150mm Green;&i$3/5 & 10 IJHC0014-48 Tungsten Ce WC20 @ 4.8X175mm Grey; s /K& 10
|JHC0018-10 Pure tungsten ® 1.0X175mm Green;ZE$5/42 & 10 IJHCO0014-64 Tungsten Ce WC20 @ 6.4X175mm Grey; @5 /K& 10
IJHC0018-16 Pure tungsten ® 1.6X175mm Green;ZE$5/42 10

1JHC0018-20 Pure tungsten ® 2.0X175mm Green;#$5/& & 10 IJHC0012-10 Tungsten Zr WZ8 @ 1.0X175mm White $5$5/8€ 10
IJHC0018-24 Pure tungsten ® 2.4X175mm Green; Z$8 /4 & 10 IJHC0012-16 Tungsten Zr WZ8 @ 1.6X175mm White; #5/H& 10
1JHC0018-30 Pure tungsten ® 3.0X175mm Green;i{8/&& 10 IJHC0012-24 Tungsten Zr WZ8 & 2.4X175mm White; #$5/5 & 10
IJHC0018-32 Pure tungsten ® 3.2X175mm Green;&i$3/5 & 10 IJHC0012-32 Tungsten Zr WZ8 @ 3.2X175mm White;#5$5/8& 10
1JHC0018-40 Pure tungsten ® 4.0X175mm Green, ZE$5/4 & 10 1JHC0012-40 Tungsten Zr WZ8 @ 4.0X175mm White;#5$5/8 & 10
IJHC0018-48 Pure tungsten ® 4.8X175mm Green, ZE$5 /4 & 10 IJHC0012-48 Tungsten Zr WZ8 @ 4.8X175mm White;#5$5/8 & 10
IJHC0018-64 Pure tungsten ® 6.4X175mm Green; Zi$3/4 & 10 IJHC0012-64 Tungsten Zr WZ8 @ 6.4X175mm White;#$5/8 & 10
|

|JHC0019-10 Tungsten Th WT20 @ 1.0X150mm Red; 5/ 6 10 |JHC0015-10 Tungsten Th WT10 @ 1.0X150mm Yellow;$t£5/&E & 10
1JHC0019-16 Tungsten Th WT20 @ 1.6X150mm Red;t$5/416 10 IJHC0015-16 Tungsten Th WT10 @ 1.6X150mm Yellow;$t$3/E & 10
1JHC0019-20 Tungsten Th WT20 @ 2.0X150mm Red; 5/ & 10 IJHC0015-20 Tungsten Th WT10 @ 2.0X150mm Yellow; 5/ 10
1JHC0019-24 Tungsten Th WT20 @ 2.4X150mm Red;$t3/4 & 10 |JHCO015-24 Tungsten Th WT10 @ 2.4X150mm Yellow;t$5/& 10
1JHC0019-30 Tungsten Th WT20 @ 3.0X150mm Red;§t$3/4 & 10 IJHC0015-30 Tungsten Th WT10 @ 3.0X150mm Yellow; £t $5/& 10
1JHC0019-32 Tungsten Th WT20 @ 3.2X150mm Red; 3/ & 10 |JHC0015-32 Tungsten Th WT10 @ 3.2X150mm Yellow; it $3/& 10
IJHC0019-40 Tungsten Th WT20 @ 4.0X150mm Red;§t3/41 & 10 IJHC0015-40 Tungsten Th WT10 @ 4.0X150mm Yellow; it $3/& & 10
IJHC0019-48 Tungsten Th WT20 @ 4.8X150mm Red;§t3/4& 10 IJHC0015-48 Tungsten Th WT10 @ 4.8X150mm Yellow; it 3/& & 10
IJHC0010-10 Tungsten Th WT20 @ 1.0X175mm Red;£t£3/41 & 10 IJHC0071-10 Tungsten Th WT10 @ 1.0X175mm Yellow; {5 /5& & 10
IJHC0010-16 Tungsten Th WT20 @ 1.6X175mm Red;£t3/4& 10 IJHC0071-16 Tungsten Th WT10 @ 1.6X175mm Yellow; 155/ & & 10
IJHC0010-20 Tungsten Th WT20 @ 2.0X175mm Red;£48/41 & 10 IJHC0071-20 Tungsten Th WT10 @ 2.0X175mm Yellow;£H$3/& & 10
IJHC0010-24 Tungsten Th WT20 @ 2.4X175mm Red;£t$5/41 & 10 IJHC0071-24 Tungsten Th WT10 @ 2.4X175mm Yellow;$t$5/5 & 10
IJHC0010-30 Tungsten Th WT20 @ 3.0X175mm Red;£t$5/4 & 10 IJHC0071-30 Tungsten Th WT10 @ 3.0X175mm Yellow;$t$3/5 & 10
IJHC0010-32 Tungsten Th WT20 @ 3.2X175mm Red;£t$5/41 & 10 IJHC0071-32 Tungsten Th WT10 @ 3.2X175mm Yellow;$t3/5 & 10
1JHC0010-40 Tungsten Th WT20 @ 4.0X175mm Red;£H48/4 & 10 IJHC0071-40 Tungsten Th WT10 @ 4.0X175mm Yellow;{t3/5 & 10
IJHC0010-48 Tungsten Th WT20 @ 4.8X175mm Red;£t5/41 €& 10 IJHC0071-48 Tungsten Th WT10 @ 4.8X175mm Yellow;{t3/5 & 10
IJHC0010-64 Tungsten Th WT20 @ 6.4X175mm Red;{t$5/41 & 10 IJHC0077-05 Tungsten Th WT10 @ 0.5X75mm Yellow;# /& & 10
IJHC0016-10 Tungsten Th WT20 @ 1.0X178mm Red;EH5/4& o I
IJHC0016-16 Tungsten Th WT20 @ 1.6X178mm Red;$t5/4 6 10 IJHC0078-10 Tungsten Th WT40 @ 1.0X175mm Orange; 3/ & 10
1JHC0016-20 Tungsten Th WT20 @ 2.0X178mm Red 15/ & 10 IJHC0078-16 Tungsten Th WT40 @ 1.6X175mm Orange; $H3/#& & 10
IJHC0016-24 Tungsten Th WT20 @ 2.4X178mm Red $t3/4 & 10 IJHC0078-20 Tungsten Th WT40 @ 2.0X175mm Orange; 13/ & 10
1JHC0016-30 Tungsten Th WT20 @ 3.0X178mm Red;$t3/4& 10 IJHC0078-24 Tungsten Th WT40 @ 2.4X175mm Orange; £t 3/ & 10
IJHC0016-32 Tungsten Th WT20 @ 3.2X178mm Red;$t3/4 & 10 |JHC0078-30 Tungsten Th WT40 @ 3.0X175mm Orange;£t$5/f& & 10
IJHC0016-40 Tungsten Th WT20 @ 4.0X178mm Red; £t 3/ & 10 IJHC0078-32 Tungsten Th WT40 @ 3.2X175mm Orange; £t 3/ & 10
IJHC0016-48 Tungsten Th WT20 @ 4.8X178mm Red; £t 8/ 10 IJHC0078-40 Tungsten Th WT40 @ 4.0X175mm Orange; 13/ & 10
IJHC0016-64 Tungsten Th WT20 @ 6.4X178mm Red;£t3/41 & 10 IJHC0078-48 Tungsten Th WT40 @ 4.8X175mm Orange; 13/ & 10
1JHC0013-10 Tungsten Ce WC20 @ 1.0X150mm Grey; s/ e 10 IJHC0079-10 Tungsten La WL15 @ 1.0X150mm Gold;$8$5/& & 10
1JHC0013-16 Tungsten Ce WC20 @ 1.6X150mm Grey; s/ 10 1JHC0079-16 Tungsten La WL15 @ 1.6X150mm Gold;#8$5/& & 10
1JHC0013-20 Tungsten Ce WC20 @ 2.0X150mm Grey: i3/ 10 1JHC0079-20 Tungsten La WL15 @ 2.0X150mm Gold;##$5/& & 10
1JHC0013-24 Tungsten Ce WC20 @ 2.4X150mm Grey: i3/ & 10 IJHC0079-24 Tungsten La WL15 @ 2.4X150mm Gold;##$5/& & 10
1JHC0013-30 Tungsten Ce WC20 @ 3.0X150mm Grey: i3/ & 10 IJHC0079-32 Tungsten La WL15 @ 3.2X150mm Gold;##$5/& & 10
|JHC0013-32 Tungsten Ce WC20 ® 3.2X150mm Grey; i/ K& 10 IJHC0079-40 Tungsten La WL15 @ 4.0X150mm Gold;#%5/& & 10
IJHC0013-40 Tungsten Ce WC20 @ 4.0X150mm Grey; i3/ & 10 IJHC0079-48 Tungsten La WL15 @ 4.8X150mm Gold;##53/& & 10
IJHC0013-48 Tungsten Ce WC20 @ 4.8X150mm Grey; i3/ K & 10 IJHC0070-10 Tungsten La WL15 @ 1.0X175mm Gold;$#$5/& & 10
1JHC0013-64 Tungsten Ce WC20 @ 6.4X150mm Grey; i3/ K & 10 IJHC0070-16 Tungsten La WL15 @ 1.6X175mm Gold;##5/& & 10
53 Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand.

EXTEIMEIR. NBREANSZSRSHER, BATETRAR (AIJEN)



TUNGSTEN ELECTRODES 54

Y(E®

Code

Description

Pack

Code

Description

Pack

IJHC0070-20 Tungsten La WL15 @ 2.0X175mm Gold;##$3/& & 10 IJHC0073-10 Tungsten La WL10 @ 1.0X175mm Black;$8$3/2& 10
IJHC0070-24 Tungsten La WL15 @ 2.4X175mm Gold;#3/€ & 10 IJHC0073-16 Tungsten La WL10 @ 1.6X175mm Black;$8$3/2& 10
IJHC0070-32 Tungsten La WL15 @ 3.2X175mm Gold;##5/& & 10 IJHC0073-24 Tungsten La WL10 @ 2.4X175mm Black;##$5/%2& 10
IJHC0070-40 Tungsten La WL15 @ 4.0X175mm Gold;##$3/& & 10 IJHC0073-32 Tungsten La WL10 @ 3.2X175mm Black; @5/ 2 & 10
IJHC0070-48 Tungsten La WL15 @ 4.8X175mm Gold;##5/&& 10 IJHC0073-40 Tungsten La WL10 @ 4.0X175mm Black; i3/ 2 & 10
IJHC0073-48 Tungsten La WL10 ® 4.8X175mm Black; #5/2& 10
|JHC0076-10 Tungsten La WL20 @ 1.0X175mm Blue;$83/H & 10 IJHC0073-64 Tungsten La WL10 @ 6.4X175mm Black$##$5/2& 10
IJHC0076-16 Tungsten La WL20 @ 1.6X175mm Blue;#83/H& & 10 IJHC0073-80 Tungsten La WL10 @ 8.0X175mm Black; ##5/2& 10
IJHC0076-20 Tungsten La WL20 @ 2.0X175mm Blue; 85/ 10 |JHC0074-80 Tungsten La WL10 @ 8.0X85mm Black; 85/ 2 10
IJHCO076-24 Tungsten La WL20 @ 2.4X175mm Blue;#8$5/1& 10 |JHC0075-16 Tungsten La WL10 @ 1.6X150mm Black;##5/ 2 & 10
IJHC0076-32 Tungsten La WL20 @ 3.2X175mm Blue; #813/156 10 IJHC0075-24 Tungsten La WL10 @ 2.4X150mm Black; i85/ 2 & 10
IJHC0076-40 Tungsten La WL20 @ 4.0X175mm Blue;##$5/15& 10 |JHC0075-32 Tungsten La WL10 @ 3.2X150mm Black;##5/2& 10
IJHC0076-48 Tungsten La WL20 @ 4.8X175mm Blue; #5/ % & 10
IJHCO076-64 Tungsten La WL20 @ 6.4X175mm Blue; #53/1 & 10 |JHC0081-10 Tungsten WR2 @ 1.0X175mm Emerald;#5/R & E 10
IJHC0072-10 Tungsten La WL20 @ 1.0X150mm Blue;##$5/HE & 10 |JHC0081-16 Tungsten WR2 @ 1.6X175mm Emerald;#5/R&E 10
IJHC0072-16 Tungsten La WL20 @ 1.6X150mm Blue; #8553/ 10 |JHC0081-24 Tungsten WR2 @® 2.4X175mm Emerald 85/ &% 10
IJHC0072-20 Tungsten La WL20 @ 2.0X150mm Blue; 3/ & 10 |JHC0081-32 Tungsten WR2 @® 3.2X175mm Emerald i85/ &% 10
IJHC0072-24 Tungsten La WL20 @ 2.4X150mm Blue; 3/ & 10 |JHC0081-40 Tungsten WR2 @ 4.0X175mm Emerald;$13/2 & 10
IJHC0072-32 Tungsten La WL20 @ 3.2X150mm Blue; 3/ & 10 IJHC0081-48 Tungsten WR2 @® 4.8X175mm Emerald; i85/ &% & 10
IJHC0072-40 Tungsten La WL20 @ 4.0X150mm Blue; #3/5 & 10
|JHC0072-48 Tungsten La WL20 @ 4.8X1505mm Blue; i85/ 10
|JHC0072-64 Tungsten La WL20 @ 6.4X150mm Blue; 855/ 10
-
(
\
1
|
Note: About the registered trade mark, reference number used are only for convenient research. We are no way affiliate with mentioned registered trade marks and brand. 54

EXTEINER. NEREHNSESHESHER, BATERAR (ATEN)



S1ivd J4vdS
4317ddNS 9NIATIM S3HJYO01 911 VANV
TTVNOISS340dd dNOA NOILINAOYULNI ANVAWOI 13Naoid

a> HIIOHID HNOA



